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1.0 OBJECTIVES  
 
After reading this unit, you will be able to: 
 
¶ describe how people learn; 

 
¶ discriminate among skimming, scanning and intensive 

reading; 

¶  describe different study strategies; and 
 
¶ explain the underlying similarities in the varied approaches.  

 

 

1.1 INTRODUCTION   
 
Have you ever asked yourself “How do I learn?” Have you ever tried to think how you 

remember things best? Do you yourself have to make a conscious effort to learn or do you 

naturally remember whatever you read and hear? Do you, as a distant learner need to know 

more about improving study skills than students in a formal college? What are study skills 

or study strategies? Do they really help to learn better? We shall try and answer some of 

these questions in the next few pages.  
 

1.2 HOW DO PEOPLE LEARN?   
 
How do people learn? A famous Sanskrit Shloka states: 
 
“A quarter of our learning comes from our teachers, own intellect and talent provides a 

quarter. A quarter from the peers and friends, and remaining comes only with time.” 
 
This age old wisdom and the contribution of research on human learning in this century 

indicates the important role of learning, rather then teaching, on acquisition of 

knowledge. The emphasis in an open learning system is essentially on learning and 

learning largely by yourself (Mukhopadhyay: 1996). 
 
Learning is not just memorizing a lot of unrelated information. It means understanding 

concepts and principles, the relationship between ideas and the ability to analyse a 

situation, to synthesize various bits of information or evaluate an event and arrive at a 

judgment. Also learning is not a one shot event. We are continuously learning new things 

and integrating new knowledge with what we already know by reading, questioning, 
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listening, thinking and reflecting. However for independent self learners like you, it 

would not be enough simply to process information. As an efficient learner, you must 

also learn how to store new information and retrieve it in moments of need (especially 

when doing assignments or taking an examination). In the next few paragraphs we would 

concentrate on some of the strategies that facilitate learning and skills that help to “learn-

on-your-own”, sometimes also called study skills. 
 
Check Your Progress 1 
 
State whether the following statements are True (T) or False (F): 
 

1) We learn everything from our teachers. ( ) 

2) Open learners have more responsibility to learn on their own. ( ) 

3) Learning is nothing but collecting a lot of information. ( ) 

4) We need to integrate new knowledge with what we already know. ( ) 

5) Study skills help learners to learn on their own. ( )  
 

 

1.3 READING WITH A PURPOSE   
 

Before you start reading anything (an article or a book) it is worth while to stop for a 

moment and ask yourself — Why am I reading this? 
 
You will then notice that one reads for two basic purpose- either for information or 

for enjoyment. 
 
Can you list some reading materials, which you need for information in column (A) or 

for enjoyment in column (B)? 
 

Reading material for information Reading material for enjoyment 

A B 
  

  

  

  

 

Did you include text books, references or technical articles for information and story books, 

and popular magazines for enjoyment? 
 
Now stop for a minute and ask yourself — do I read each and every reading text at the same 

speed? In the same manner? 
 
Obviously not. You would glance through the headlines of a newspaper or the subheadings 

of an article to get an overview of what it is all about, stopping to read slowly only what 

interests you. If you are looking for some particular information, then you would read 

carefully provided the reading text is related to what you have in mind. You would, 

however, read differently when you are trying to understand and analyse the author's ideas 

and words. 
 
These four different styles of reading are: 
 
a) skimming, 
 
b) scanning, 
 
c) intensive reading, and 
 
d) extensive reading.   
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i. Skimming is used to gain an overview or general idea of what we are reading. When 

we skim, we do not read each and every word/sentence/paragraph. We gather the main 

ideas by reading the headings, subheadings, introductory paragraphs, topic sentences 

and the summary paragraphs. 
 

ii.  Scanning is used to locate specific information or facts. When you look for a word in 

a dictionary or somebody's telephone number in the directory, you are scanning. 

When you can, you know the question you are trying to answer. We usually use 

scanning in locating facts in reference materials — dictionaries, encyclopedias, 

indexes or tables. 
 

When we read something very carefully to analyse the author’s ideas and words, to 

solve a problem or critically review a situation, we read the text intensively. 
 

Obviously, we use different strategies depending on why we are reading a particular 

text. 
 

iii.  Intensive reading aims to arrive at a detailed and thorough understanding of the 

text. Material for intensive reading is chosen with a view to developing the student’s 

powers of judgement and discriminative reasoning. Students learn to scan for 

information, to read with careful attention, and to extract major ideas and arguments. 
 

iv. Extensive reading involves reading fluently and in large quantity for pleasure, 

without any external help. Students are encouraged to read widely on subjects which 

interest them personally and share what they enjoyed with their fellow students. 
 
Check Your Progress 2 
 
Write skimming, scanning or intensive reading with each of the situations given below: 
 
1) You want to know the winners of yesterday’s Durand Match from the Newspapers. 
 

........................................................................................................................................ 
 
2) Your mother is a diabetic patient and you come across an article in a 

popular magazine— “Hope For Diabetes”. 
 

........................................................................................................................................ 
 
3) You have to answer a question on laser treatments. You are reading a few 

reference books before writing the answer. 
 

........................................................................................................................................  
 

 

1.4 WHAT ARE STUDY SKILLS?   
 

The process of study involves four operations- perception, comprehension, retention and 

retrieval. In other words, you should first perceive what is relevant to your needs and 

select only those areas which are important. You cannot study everything available in 

every book you can lay your hands on. Once you have decided on areas, which are 

important, you have to read and understand — or comprehend the material that you have 

selected — for no learning can take place without comprehension. What is not understood 

is not learnt. Comprehension is thus imperative in the process of learning. However, mere 

comprehension is not enough. What one understands now, may also be easily forgotten 

later. Hence, you, as a student, have to make special efforts to retain what you 

comprehend. You also have to retrieve all that you learn throughout the year at the time of 

examination. 
 
In this unit we shall concentrate in detail on the various skills needed for locating and 

comprehending information. (Skills that can be clubbed together as Gathering Skills.) 

Units 2,3 and 4 give you more information on note making/note-taking so that you can 

retain/store information for later use. The units on writing summaries concentrate on 

retrieval skills or presenting ideas/information in a coherent from so that their readers 

can understand them. 
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1.4.1 Locating Information 
 
How do you go about locating the information you need? You should first of all know the 

sources available, e.g. books, journals, encyclopaedias etc. Once you have identified the 

sources, you should make effective use of them. 
 
A major source of information, which we keep consulting often, is the dictionary. We 

mainly look for meanings of words — but the dictionary also makes available 

information on pronunciation, grammar, etymology derivations, etc. 
 
You also have to use the library catalogues, which are arranged alphabetically, author-wise 

and also discipline-wise in the alphabetical order. Once you have located a book, you 

should be able to use the contents page or the index at the back of the book to decide if it 

would be useful for you. The index is also in alphabetical order and gives you all the page 

numbers where a particular subject is mentioned. Having found the topics, you can use 

skimming and scanning strategies to see if the identified pages are relevant for you. 
 
Check Your Progress 3 
 
1) Use a medical dictionary to find out whatever information you can about these words. 
 

a) Disimpaction, Dislocation, Hydro-adipsia, Cardiogenesis. 
 

.................................................................................................................................. 
 

.................................................................................................................................. 
 

.................................................................................................................................. 
 

.................................................................................................................................. 
 

b) What possible entries can you find under main entry of dislocation? 
 

.................................................................................................................................. 
 

.................................................................................................................................. 
 
2) You have to find out about the following: 
 

a) drugs that causes birth defects in babies 
 

b) Insect stings 
 
3) Which of the following index entries would be useful for you? Which page number 

should you go to? 
 

a) Bone 1.92; formation of: ossification 761, structure of the bone 192, bone 

grafts 193. 
 

b) Birth defects 172, causes of chromosomal abnormalities 275, Genetic 

disorders 476, Pregnancy drugs in 823. 
 

c) Stress 95.1, associated with hypertension 552, relaxation teachings 867. 
 

d) Stings 947, types of: Insect stings 588, jellyfish stings 607, scorpion stings 893. 
 

.................................................................................................................................. 
 

.................................................................................................................................. 
 

.................................................................................................................................. 
 

.................................................................................................................................. 
 

.................................................................................................................................. 
 

.................................................................................................................................. 
 

..................................................................................................................................  
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1.5 STUDY STRATEGIES FOR BETTER 

COMPREHENSION: SQ3R 
  
There are many approaches to studying effectively and efficiently — but the most widely 

used approach is known as SQ3R (Survey, Question, Read, Recite, and Review). Let us 

read in detail about the different steps involved and understand how these steps facilitate 

comprehension. 
 
Survey: This is the phase when you (the learner), look closely at the title, look at 

different subtitles, read the first and last paragraphs of the text to get an overall idea or 

gist of the chapter. 
 
Question: You should now read through each paragraph, carefully and formulate a 

few questions the answers of which are what you would like to know. 
 
Read (R1): Read through the text to find out the answers to the questions you have framed. 
 
Recite (R2): Try to remember the main ideas of what you have read. If only you recite the main 

ideas and sub-points of different chapters frequently, you would remember things better. 
 
Review (R3): Read the questions that you had formulated in step 2 again. Now review the 

main points and sub-points of different sections to check if you have found the answers to 

the questions that you had set yourself to answer. 
 
This approach has a two-fold advantage. 
 
a) You decide by the first two steps why you should read a particular chapter — i.e. you 

set a purpose for your reading (viz., find the answers to the questions that you would 

like to know). 
 
b) Frequent and spaced reciting and reviewing of what you have read in the different 

sections, has a positive influence on retention. 
 
(In the next few units, we would be talking about note taking — which you would find is 

a technique for storing information as you cannot remember each and everything by heart. 

By reviewing at frequent intervals, with the help of your notes what you have read earlier, 

you will retain better.) 
 
Check Your Progress 4 
 
1) What different steps are to be followed in SQ3R approach? 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 
2) Write in your own words the purpose of the 3R stages. 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 
3) Look at the third unit of this block. Using the survey technique, write in two 

sentences what this unit is about. 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
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1.6 VARIATIONS OF THE SQ3R APPROACH   
 

There are some variations of the SQ3R approach. In this unit we would look at two of 

them PLAN and KWL Plus.  
 
PLAN which stand for Predict, Locate, Add and Note is a four-step method and a strategy 

that you can use effectively to study better. Let us look at the steps more closely. 
 
PREDICT: By using the title as the main topic, and using subtitles, highlighted words and 

other clues, make a list of the possible ideas that you would probably read about in the 

chapter. 
 

Locate: Make a tick mark ( ) against the ideas that you are somewhat familiar with and 

put a question mark (?) against those which are absolutely new concepts/ideas for you. 

This would enable you to estimate the amount of familiar and unfamiliar concepts that you 

have to deal with in the next few pages. 
 
Add: While you read through the chapter, add words and short phrases to your list to 

explain items with question marks and clarify items that you have indicated as already 

familiar. You are thus monitoring your own learning by integrating new information with 

what you already know. 
 
Note: Take notes of what you have learned. You can look at your original list and re-

organise your notes either as an outline (as in headings and sub-points) or tables or a 

visual map. (You will read more about note-taking in the next two units.) 
 
Research studies have found PLAN a very effective strategy for studying at all levels. 

Through repeated use of this approach, you become skilled in monitoring your own 

reading comprehension, by taking stock of what you already know and identifying and 

adding what is unfamiliar. 
 
Check Your Progress 5 
 
How is PLAN different from SQ3R in its approach? Write in two or three sentences. 
 
................................................................................................................................................ 

 
................................................................................................................................................ 

 
................................................................................................................................................ 

 
................................................................................................................................................ 

 
The KWL Pl us method moves from what one already knows (K)  to what one wants to 

know (W) and what one has learned (L)  to the Plus (which requires the construction of a 

graphic organiser). (You will read more about graphic organizers in Unit 3 of this block.) 
 
Let us go through the different steps in a little bit more detail. 
 
First make three columns in your notebook as shown below: 

 

1) Know 2) Want to know 3) Learned 
   

   

   
 
Now, when you start reading anything new, first spend a few minutes to recollect what you 

know. List them under the Know column. 
 
In the next step, formulate a few questions, the answers of which you would like to know 

from the reading passage. Write these questions in the want to know column. Then while 

you read the text, keep writing the answers to want to know in the Learned column.  
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(You may find it necessary to add new questions and answers as you read and find 

information that you did not anticipate.) 
 
In the plus stage, categorize and arrange all information as a graphic organiser. 
 
(You may also find that the answers to the questions you want to know are not available in 

the text. You then have to go to some other source.) 
 
The KWL plus approach is different from PLAN in the sense that you, the learner begin by 

taking stock of what you already know in KWL plus whereas in PLAN you begin by 

predicting (or guessing) what you would probably read in the text. Both strategies are aids 

to understanding better what you read. Similarly the steps Want to Know and Locate 

encourage you, the learner, to make the best use of your previous experience and provokes 

you to think about what new information, you would like to have. The Plus and Note steps 

in the two approaches are aids to memory and help the learner to review what has been 

learnt. 
 
You will notice that all the three approaches encourage you, the learner, to take charge of 

your own learning by helping you to look back (think consciously of what you already 

know) and look ahead (comprehend new information). All strategies help you to integrate 

old and new information through different techniques. 
 
Check Your Progress 6 
 
Use the KWL Plus  strategy with any unit from the block and write how you found the 

approach useful. 
 
................................................................................................................................................ 
 
................................................................................................................................................ 
 
................................................................................................................................................  
 

 

1.7 LET US SUM UP  
 
In the unit you have read that: 
 

¶ Study skills (or study strategies) help you to learn-on-your own. These 

strategies help you to make the best use of your Reading and Writing skills. 
 
¶ One learns best by integrating new knowledge with what one already 

knows. 

¶ Study skills can be subdivided into 
 
—  Gathering Skills 

 
—  Storing Skills 

 
—  Retrieval Skills 

 

¶ We vary our reading strategies depending on our purpose. 
 
¶ The most common study strategy is known as SQ3R. Variations of this approach 

are the PLAN and KWL plus.  
 

 

1.8 KEY WORDS  
 

Predict : To guess (in advance) what might follow. 

Recite : First and last paragraph to remember the main ideas of what has been 

  read. 

Retention : To avoid losing (here to remember). 

Review : To check if the answers to all questions have been found. 
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Study Skills Scanning : To read quickly, looking for particular information. 

   Skimming : To read quickly to get the main ideas. 

   Study skills : Strategies that facilitate learning 

   Survey : To get an idea of the chapter by looking at headings/subtitles. 

   Variation  : A slightly different form.  
 

 

1.8 ANSWERS TO CHECK YOUR 

PROGRESS  
 

Check Your Progress 1 
 

1) F 
 

2) T 
 

3) F 
 

4) T 
 

5) T 
 

Check Your Progress 2 
 

1) Skimming of Headlines/Scanning if interested in more 

details. 
 

2) Scanning for details as to what hopes diabetics might 

have. 
 

3) Intensive reading of reference material. 
 

Check Your Progress 3 
 

1) Open-ended question 
 

2) a)   Page 823 
 

b) Page 588 
 

Check Your Progress 4 
 

1) Survey, Question, Read, Recite and Review. 
 

2) To read through to find out answers to questions 

formulated, take stock of main ideas remembered, assess 

if answers to all questions have been identified. 
 

3) To take notes in the form of tables, diagrams and graphic 

organisers. 
 

Check Your Progress 5 
 

PLAN encourages intelligent guessing of what is to follow and 

then assessing if the guesses have been correct by locating 

necessary information. By adding words and phrases one 

classifies one’s ideas and checks if what one knows is right or 

wrong. In SQ3R there is no place for guesswork. The Question 

stage, however, allows the learners to set a reading purpose, 

which the next three stages help in achieving. 
 

Check Your Progress 6 
 

Open-ended question 
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UNIT 2 NOTE-TAKING -I: SOME 

BASIC DEVICES 
 
 
Structure 
 
2.0 Objectives 
 
2.1 Introduction 
 
2.2 How to Read? 
 
2.3 Specimen Notes (Using Headings and Subordinate Points) 
 
2.4 Reduction Devices 
 
2.5 Passages for Note-taking 
 
2.6 Let Us Sum Up 
 
2.7 Key Words 
 
2.8 Answers to Check Your Progress 
 
2.9 Suggested Readings  

 

2.0 OBJECTIVES  
 
After reading this unit, you will be able to: 
 

¶ learn the techniques of reading with a purpose; 

 

¶ organise the headings and subordinate points of the reading passage; and 

 

¶ learn shortening devices which help in note taking.  

 

2.1 INTRODUCTION   
 
Almost anyone who studies at a college or university or works in an office has to take 

notes sometimes. As a student you generally take notes while listening to a lecture in the 

classroom or to a speaker at a seminar, or when reading your course book. In an office you 

may need to take notes when the boss gives you instructions, or when you attend a 

meeting or a conference. Sometimes you may have to take an examination to improve 

your qualifications or to compete for a better job. Then you have to take notes from the 

books you read. While taking notes, have you ever asked yourself the reason for taking 

them? There are usually two main reasons: 
 

i. to keep a record of the speaker’s or the writer’s main ideas (not to take down or copy 

every word); 
 

ii.  to help your memory when, for example, you are revising for an examination, or 

preparing a report. 
 
The tendency of many students is to try to write down as much as possible of what the 

teacher is saying. In this process, they often miss the main points of the lecture, but, on 

the other hand, take down a lot of unimportant information. Similarly, when you are 

taking notes from a book or an article, it is generally not a good idea to copy out large 

chunks of a text, unless you are going to quote from it. 
 
In this unit we shall deal with taking notes from reading text from the point of view of 

the organisation of notes. In the next unit on Note-taking (Unit 3) we shall discuss the 

organisation of notes in terms of Tables and Diagrams and Graphic Organisers. 
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2.2 HOW TO READ?  
 

When we read, we generally have a purpose in mind. The purpose may be to spend some 

time on a rainy afternoon by reading a detective novel or a love story. 
 
Often our purpose is to obtain information on a particular topic. When you read a passage 

in order to obtain specific information, it is a good idea to acquaint yourself with the text by 

quickly going through it i.e. you skim through the passage to understand the main idea or 

the gist of the passages. You will notice that some paragraphs will contain the information 

you want, and they must be read carefully i.e. scanned for relevant information. Other 

paragraphs may contain a lot of repetition, and they can be skimmed, i.e. read faster and 

more superficially. There may be some passages that are of no interest to us or are 

completely irrelevant for our purpose, and they can be skipped. 
 
Example 1 
 
In the passage that follows, your purpose in reading will be to obtain information about the 

various kinds of heart diseases, their causes and symptoms. 
 
A. Heart disease is the enemy number one of the human body in our time. It accounts for 

the largest number deaths in all affluent societies, outstripping cancer, accidents and 

infections as causes of death. In developing countries as well, this trend is apparent, 

now that fewer people die of infections, and more children survive the diseases of 

childhood. 
 
B. There are four important types of heart diseases. Firstly, congenital heart disease, 

which is present at birth; an example of this is the so-called ‘blue baby’. It accounts 

for 2 per cent of all heart diseases. The second type, rheumatic, is quite common in 

some 30 to 40 per cent of all heart cases. It is caused by an infection of the throat 

which, is untreated causes damage to the heart. The symptoms are a chronic sore 

throat, painful joints and high fever. This disease is widespread in many developing 

countries, due to poor living conditions and overcrowding. 
 
C. High blood pressure is also an important cause of heart disease, of the third type, 

hypertensive, and accounts for some 15 to 25 per cent of all heart cases. It is believed 

that among other factors such as stress and smoking, a higher salt intake in the diet 

leads to blood pressure. 
 
D. Degenerative heart disease, commonly known as Ischaemic heart disease, is the cause 

of heart attacks, and is one of the most important health problems among adults 

throughout the world. Ischaemic heart disease is due to blocking of the two blood 

vessels which supply blood to the heart muscle. At birth they are wide open, but in a 

diseased state one or more of these vessels is completely blocked, leading to 

defective blood supply to various points of the heart. This results in the well-known 

symptom of pain on emotional or physical stress called angina. What causes this is 

the laying down of a fatty substance, called cholesterol, in the wall of the artery, 

which gradually blocks the vessel and may close it completely. 
 
E. How does cholesterol get into the blood? It results partly from a diet rich in fats of 

animal origin, such as butter, cream, cheese, rich cuts of beef, ham and bacon, egg 

yolk, and saturated cooking fats, such as ghee. 
 

Based on the Heart in Sarah Freeman, Study Strategies in English. 
 
After you have read the passage once, answer the following questions. 
 

a) Of the four types of heart diseases mentioned here, which types were you aware 

of? Write them here. 
 

.....................................................................................................................................

... 
 

.....................................................................................................................................

... 
 

b) Which types of heart disease are absolutely new information for you? Write 

them here.  
i.  CMYK   
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Note ï taking ï I:  
 

Some Basic Devices  
…..................................................................................................................................... 

 
…..................................................................................................................................... 

 
…..................................................................................................................................... 

 
If after reading a passage you do this kind of a stock taking or questioning of yourself — it 

would be easier for you to decide which paragraphs to skim through and which to scan and 

go over thoroughly for the purposes of making notes. 
 
Now read the passage again and find out if you can answer the following questions. 
 
Check Your Progress 1 
 
Read the above passage carefully and answer the following questions. 
 
1) In Paragraph A, the writer mainly wishes to inform the reader that 
 

a) More children survive the diseases of childhood than ever before. 
 

b) Heart disease is also quite prevalent in developing countries. 
 

c) Heart disease is the world’s major killer of our times. 
 
2) Which are the topic sentences in the paragraph. 
 

a) ................................................................................................................................ 
 

b) ................................................................................................................................ 
 

c) ................................................................................................................................ 
 

d) ................................................................................................................................ 
 

e) ................................................................................................................................ 
 

(A topic sentence is one which gives the main idea of the paragraph. You have read 

about topic sentences in Block 2.) 
 
3) State whether the following statements are True (T) or False (F). 
 

a) A congenital heart disease is something that a baby is born with. ( ) 
 

4) A continually bad throat and fever will always led to rheumatic heart  
disease. ( ) 

 
c) Rheumatic heart disease is common among young people in some countries. ( ) 

 
e) People who smoke, but take less salt in their diet, are not likely to get high  

blood pressure. ( ) 
 

e) Angina is a signal that a person has high blood pressure. ( ) 
 
4)a)   In what types of heart diseases does diet play an important role? 
 

................................................................................................................................ 
 

................................................................................................................................ 
 

................................................................................................................................ 
 

 b) What are the food habits that contribute to heart disease in each case? 
 

................................................................................................................................ 
 

................................................................................................................................ 
 

................................................................................................................................ 
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5) State the main idea of the passage. Write it as a title for the passage. 

 

Study Skills 

    ........................................................................................................................................ 

    ........................................................................................................................................ 

    ........................................................................................................................................ 

    ........................................................................................................................................ 

   6) a) The purpose in reading the passage was to find out details of the four types of 

     heart diseases in terms of their causes and symptoms. Which paragraphs do you 

     think are unimportant for this purpose? 

     ................................................................................................................................ 

     ................................................................................................................................ 

     ................................................................................................................................ 

     ................................................................................................................................ 

    b) Were they unimportant because: 

     i) they did not contain the information you wanted, or 

     ii)   the same information was repeated again and again?  
 

 

2.3 SPECIMEN NOTES (USING HEADINGS AND 

SUBORDINATE POINTS) 
 
 

When the information content is small and not particularly well-organised, our notes may 

contain just a few phrases. However, when we study, our information content is often large 

and organised around a topic. In such a situation, it makes our notes clearer, if we have 

headings and subordinate points. For example, look again at the passage on heart diseases. 
 

Your notes on this topic can look like this. 
 

Heading: Types of Heart Diseases — Their Causes and Symptoms 
 

Subordinate Points 
 

1. Congenital h.d. 
 

2. Rheumatic h.d. 
 

3. Hypertensive h.d. 
 

4. Ischaemic h.d. 
 

It is perhaps helpful to follow a pattern where 
 

a) the heading is underlined; 
 

b) the subordinate points are placed under the heading and indented, that is, the lines are 

started further into the page than the line for the heading. This shows that they are 

dependent on the main topic. The subordinate points are directly under each other. 

This shows they are of approximately the same importance. Now write down the main 

points and sub-points in your note book. Compare your account of the 4 types of heart 

disease with the notes given below: 
 

Notes 1 
 

Types of Heart Diseases: Their Causes and Symptoms 
 

1.Congenital heart disease (h.d.) present at birth e.g., blue baby 
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2  Rheumatic h.d. ← (caused by) untreated infection of throat; symptoms — chronic sore   

throat, painful joints, high fever; widespread in developg countries, overcrowdg + poor 

living conditions, accounts for 30-40% of all heart cases. 
 
3.Hypertensive h.d. ← high blood pressure, stress, smoking + higher salt intake in diet. 
 
4.Degenerative or Ischaemic h.d. ← blockage of arteries by cholesterol, angina, heart 

attacks. 
 
Two Types of Subordinate Points 
 
There are generally two types of subordinate points. 
 
a) Those that are independent of each other, depending only on the heading; for 

example, see notes (1). 
 
b) Those that are related to each other, only the first depending directly on the heading. 
 
If you look at Notes (1) again in Section 2.2 you will notice that the subordinate points can 

be recorded (e.g. 4 before 3 before 2, etc.). In fact, they can also be arranged like this: 

 

Ischaemic h.d.  hypertensive h.d. 
    
 
 
 
 

Types of heart diseases 
 
 
 

 

Congenital h.d.  rheumatic h.d. 
   

 

 

These sub-points are all directly dependent on the heading. Some books call such sub-

points spokes, because they can be arranged like the spokes on the wheel of a bicycle, as 

shown in the figure.  

 

Heading 
 

 

Spokes or subordinate points  
 
 
 
 
 
 

 

2.4 REDUCTION DEVICES   
 

You will notice in the specimen notes that the sentences and some of the words have been 

reduced, and certain symbols and abbreviations used. We give below a list of these 

reduction devices, which you can use while taking notes yourself. 
 
Reduction devices are an important technique in note-taking. They help you save time when you 

are noting down something from a book. They are particularly useful when you are taking down 

notes from a lecture, because otherwise it will be difficult to keep pace with the speaker. Since 

notes do not contain repetitive and unnecessary information, reduction devices help to give a 

more organized picture of what the writer/speaker is saying. 

 
Note - taking - I:   

Some Basic Devices 
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You can use symbols (lines, arrows, etc.) instead of words. 

 

Study Skills 

   a) Arrows  

   Look at this extract from the text: 

   Blockage of arteries leads to a defective blood supply to the heart. This results in the well 

   known symptom of pain on emotional or physical stress called ‘angina’. 

   In the notes we can write: 

   Blockage of arteries → def. Blood supply → angina 

   An arrow can also mean ‘changes into’, ‘causes’, ‘contributes to’, etc. 

   An arrow in the reverse direction (←) means ‘is attributed to,’ ‘is caused by’ as in the 

   following example: 

   Rheumatic heart disease is caused by an infection of the throat which is not treated, 

   Rheumatic h.d. ← untreated throat infection 

   An arrow with two heads (↔) can mean ‘related to’. 

   b) Underlining is used to show what is important. 

   c) Mathematical symbols: 

    i) Figures instead of words for number (26 instead of twenty-six, for example). 

    ii)  ‘the same as’ becomes = 

    iii)  ‘not the same as’ becomes ≠ 

    iv) ‘is less than’ becomes < 

    v) ‘is more than’ becomes > 
      Q 

    vi) ‘therefore’ becomes 

    vii)  ‘because’ becomes 

   3) You can use abbreviations (a few letters instead of the whole word). 

    a) Units of measurement: 

     i) second—sec. 

     ii)  minute —min. 

     iii)  hour — hr. 

     iv) year — yr. 

     v) Meter — m. 

     vi) Kilogram — kg. 

    b) Useful abbreviations for words and phrases: 

     i) and so on — etc. 

     ii)  compare — cf. 
 

iii)  that is — i.e. 
 

iv) for example — e.g. 
 

v) about, approximately — ca. 
 

vi) Twentieth century — C20  
14  
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4) shortening — tion or — sion at the end of a word, e.g. 

 
 reaction — reactn 

 
conclusion — conclusn 

 
You can usually shorten words by omitting or shortening the ending or suffix, and putting 

a full-stop to show that something has been omitted. There are some words which are 

shortened in a standard way and others which you will have to shorten yourself on the 

pattern of the common words. Here are some examples of abbreviations of words taken 

from Example 1, which follow the pattern shown above. 
 
Developing — developg 

 
Emotional — emotnl 

 
Defective — defectve. 

 
Important — importnt 

 
Shortening of words as given above is probably more useful when you take down notes 

during a lecture, as it is difficult to keep pace otherwise. Here it doesn't really matter 

what system you use, as long as you can understand your own notes when you return to 

them after sometime. It may be a good idea when adopting your own abbreviations to 

write a word or a phrase in full with your abbreviation after it the first time it occurs, e.g., 

heart disease (h.d.) 
 
The lists of symbols and abbreviations given here and the suggestions for shortening 

words and phrases are not, of course, complete and exhaustive. These are mere 

suggestions, which will enable you to use these abbreviations and symbols wherever you 

have to take down notes. 
 
Check Your Progress 2 
 
Shorten the following sentences, but do not shorten them so much that you may not 

understand your notes later. 
 
1) At about the age of four, the school life of a child begins. 
 

........................................................................................................................................ 
 
2) For example, water covers seventy-one percent of the earth’s surface. 
 

........................................................................................................................................ 
 
3) Heart disease causes half a million deaths a year in the United States of America. 
 

........................................................................................................................................ 
 
4) Two important diseases caused by the deficiency of Vitamin A are Xerophthalmia and 

night blindness. 
 

........................................................................................................................................ 
 
5) Road conditions also contribute to higher fuel consumption and this increases 

pollution 
 

........................................................................................................................................  
 

 

2.5 PASSAGES FOR NOTE-TAKI NG  
 

Now read the following passage. Your purpose will be to discover the different theories of 

aging. Once again, only some paragraphs in the passage will be useful to you. 

 
Note - taking - I:   

Some Basic Devices 
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Example 2 

 

  

Study Skills  

   A) The average life span differs very widely for different organisms. While some live for 

    short periods, others may have a life of several decades or even centuries. None,  

    however, lives forever. Even if an individual meets with no fatal accident, is not eaten 

    up by a predator, or does not suffer a killing disease, death still comes as the natural 

    final result of old age.  

   B) Aging is defined as the process of progressive deterioration in the structure and  
    function of the cells, tissues and organs of the organism as it grows older. The area of 

    developmental biology which is concerned with the study of the processes of aging is 

    known as gerontology.  

   C) Why should an animal age at all? Why do some animals age more rapidly and have a 

    shorter life span than others? Why do different cell types and tissues within the same 

    individual age at different rates? We still do not know enough about the process and 

    causes of aging, although many theories have been proposed to explain this  

    phenomenon.  

   D) Some biologists suggest that adverse changes in the environment are the causes of 

    aging in the organisms. Others believe that aging is an intrinsic genetic property of 

    the cells of an organism. According to a compromise theory, aging is due to an  

    interaction between hereditary factors (genes) and the environment. We know, for  

    example, that domestication of animals increases their life span. Another theory  

    proposes that the cells and organisms with a high rate of metabolism age more rapidly 

    and die sooner than those with a relatively lower rate of metabolic activity.  

   E) A more recently proposed immunity theory of aging suggests that the decline and  
    disappearance of the thymus gland by late middle age in man is the primary cause of 

    aging. With the disappearance of this gland, the defences of the body against foreign 

    invasion weakens, and, at the same time, the number of defective, abnormal and  

    harmful cells produced in the body itself goes up. This results in increasing damage 

    and destruction of the tissues.  

   F) While each theory of aging is supported by some evidence, none of them  
    comprehensively explains this phenomenon. A theory which explains aging in all  

    kinds of organisms can be formulated only when more facts are known about aging 

    processes in a variety of species living under different conditions.  

   (Adapted from Biology, a textbook for Higher Secondary Schools, Classes XI-XII, NCERT.) 

   Check Your Progress 3  

   The following questions will help you to understand both the content and the organization 

   of the passage better.  

   1) What title would you give this passage?  

    ........................................................................................................................................ 

    ........................................................................................................................................ 

    ........................................................................................................................................ 

   2) What are the various causes of death mentioned in the passage?  

    ........................................................................................................................................ 

    ........................................................................................................................................ 

    ........................................................................................................................................ 

   3) Which theory, according to the author, explains aging comprehensively’? [Choose the 

    correct answer by putting a tick (  )]:  

    a)   The ‘compromise’ theory according to which hereditary factors and  

16 
  environment play an important role in aging; (  ) 
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b) The immunity theory which suggests that the defence mechanism of a human  

being declines with the disappearance of the thymus gland in middle age; ( ) 
 

c) The rate of metabolism theory, which propose that organisms with a higher rate 

of metabolic activity die earlier than those with a lower rate of metabolic  
activity; ( ) 

 
d) None of these. ( ) 

 
1) What could be the ‘foreign invaders’ referred to in paragraph E? 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 
2) Complete the following notes. 
 

Notes 2 
 
Theories of Aging 
 
1) Aging a process of ......................................................................................................... 
 
2) Different theories: 
 

i) ................................................................................................................................ 
 

ii)  Intrinsic genetic property of the cells. 
 

iii)  a)   Compromise theory — interacn ……....................................................................... 
 

b) Higher rate of metabolism—hastens process of aging. 
 

c) Immunity theory—decline and disappearance of………………......................... 
 

3) ………………………. theory of aging 
 
You will notice that besides using symbols and abbreviations we have also omitted words 

like the, a, and the verb be (are, is, was, were, etc.). In note taking such omissions are 

quite common, because we want to save time. However, in normal writing you must not 

use any of these shortening devices. 
 
Example 3 
 
Read the following passage and find out about the courses, treatment and prevention of 

breast abscess. 
 
Are the sub-points dependent on the heading or related to each other? 
 
I) Breast Abscess is a collection of pus in the mammary gland, usually in a woman who 

is lactating (producing milk). Breast abscesses develop if acute mastitis 

(inflammation of the breast, usually due to infection) is not treated promptly with 

antibiotic drugs. They occur most commonly during the first month after a woman's 

first delivery. 
 
II)  The initial symptoms are the acute mastitis: the breasts become increasingly tense 

and tender, and the woman may also develop fever and chills. The abscess develops 

in one area, which becomes very firm, red and extremely painful. 
 
III)  Simple analgesic drugs, such as paracetamol, provide some relief. The abscess is 

treated by surgical incision and drainage of the pus under general anesthesia. Breast 

infections can be prevented by clearing and drying the breasts carefully after each 

feed. Breast abscesses are less likely to occur if the breasts are emptied regularly, 

making engorgement (overfilling) and the development of mastitis less likely. 

 
Note - taking - I:   

Some Basic Devices 

 
(From A complete Family Health Encyclopaedia: the British Medical Association; 1996).  
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Check Your Progress 4 
 
Answer the following questions. 
 
1) What heading would you give the above passage? 
 

........................................................................................................................................ 
 
2) Match the subheadings in column I with their paragraph numbers in column II. 
 

 Column I  Column II  

a) Symptoms of Breast Abscess i) Paragraph I 

b) Treatment and Prevention of Breast Abscess ii)  Paragraph II 

c) Breast Abscess — Definition and Cause iii)  Paragraph III 
    

 
3) The main ideas which can be noted for the three main sub-headings given in question 

number 2 are given below. But they are all mixed up. Put them under proper 

subheadings. One is done for you. 
 

a) Clearing and drying of breasts after each feed; regular and frequent emptying 

(bs) of milk. 
 

b) B Ab. Collection of pus in mammary glds, Usual in nursing mothers. 
 

c) Simple analgesics; surgical incision. 
 

d) B. Ab. untreated acute mastitis 
 

e) Bs. Tender, fever, chill. Ab. in one area- painful. 
 

Notes 3 
 
a) B. Ab. Definition and Cause 
 

........................................................................................................................................ 
 
b) Symptoms of B. Ab. 
 

........................................................................................................................................ 
 
c) Treatment and prevention of B. Ab-Cleaning and drying of bs. after each feed 
 

........................................................................................................................................ 
 

Abbreviations used 
 

Bs = Breasts 
 

Ab. = Abscess 
 

glds = glands 
 
Again read Example 3 carefully. The sub-points are arranged under different subheading 

but you cannot place any subheading anywhere. That is because unless you know what a 

breast abscess is or what the symptoms are — treatment and prevention has no meaning. 

Thus you see the points are related to each other. 
 
Example 4 
 
Read the following paragraph on the formation of coal. 
 
The process of formation of coal is thought to have begun over 250 million years ago. At 

that time much of the world was covered with luxuriant vegetation growing in swamps. 

Many of these plants were types of ferns, some as large as trees. When this vegetation 

died, it sank into the muddy water, where it gradually decomposed. As decomposition 

took place, the vegetable matter lost oxygen and hydrogen atoms, leaving a deposit with a 
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high percentage of carbon. In this way peat bogs were formed. As time passed, layers of 

sand and mud settled from the water over some of the peat deposits. The pressure of these 

overlying layers, as well as movements of the earth's crust and sometimes volcanic heat, 

acted to compress and harden the deposits and raise the carbon content in them, thus 

producing coal. 
 
(From Funk and Wagnallôs New Encylopaedia) 
 
Check Your Progress 5 
 
Read the passage carefully and take notes from it, keeping in mind the heading and the 

subordinate points. Some help is provided for you. Note how the relationship of the 

subordinate points here is different from that in Notes (3). 
 

Notes 4 
 
(heading) ....................................................... i) .................................................................... 

 
1) vegetation growing in swamps (over 250m. yrs ago). 

 

2) ............................................................ ii) ....................................................................... 

 

3) it decomposed 

 

4) decomposition .................................... iii) ....................................................................... 

 
5) peat bogs formed 

 

6)   .............................................................. iv) ....................................................................... 

7)   ............................................................... v) ....................................................................... 
 
Check your answers with those given by us at the end of the unit.  
 
In Notes (4) the sub-points are again arranged vertically, but they cannot be ordered, 

because each point leads to another. To show clearly that one point leads to another, they 

can be arranged horizontally, like this: 

 

Formation of Coal  Vegetation growing in swamps over 250 m yrs ago  It decomposed 
      
 
Some books call these subordinate point links in a chain. 
 
We would suggest that you arrange your notes vertically rather than in spokes or chains. 

It is, however, useful to know whether the subordinate points in a text are dependent or 

independent of each other. This will help you read with greater understanding. 
 
Subordinate points that are independent of each other need not all be noted. If one or 

more is omitted, it will not affect the rest. 
 
Subordinate points that are dependent on each other must all be noted.  
 

 

2.6 LET US SUM UP  
 

In this unit we have suggested that it is necessary to read with a clear purpose in mind, so 

that you can separate the essential information in a text from what is repetitive or 

irrelevant. We have also told you about the techniques of note-taking in terms of 
 
~ shortening devices such as abbreviations and symbols, and 

 

~ the organisation of notes in terms of headings and subordinate points. 

 
Note - taking - I:   

Some Basic Devices 
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2.7 KEY WORDS  
 

Abbreviation : A few letters instead of the whole word 
 
Condense : Put into fewer words 
 
Encyclopaedia : A book giving information about every branch of knowledge 
 
Heading : Words at the top of a section of written matter 
 
Note : A short record made to help the memory 
 
Scan : Read carefully for information 
 
Skim  : To read quickly to understand the main points 
 
Subordinate : Less important 
 
Symbol : A sign looked upon as representing something  
 

 

2.8 ANSWERS TO CHECK YOUR PROGRESS  
 

Check Your Progress 1 
 
1) c) 
 
2) a)   Heart disease is the enemy member one of the human body in our time. 
 

b) No proper topic sentence but two types — congenital and rheumatic discussed in 

detail 
 

c) High blood pressure is an important cause. 
 

d) Degenerative heart disease—an important problem among adults. 
 

e) How does Cholesterol get in the blood? 
 
3) a)   T 
 

b) F 
 

c) T 
 

d) F 
 

e) F 
 
4) a)   Hypertensive and ischaemic heart diseases. 
 

b) A high intake of salt can lead to hypertensive heart disease. A diet rich in fats of 

animal origin, such as butter, cream, cheese, beef, ham, bacon, egg-yolk and ghee 

can increase the level of cholesterol in the blood and cause ischaemic heart 

disease. 
 
5) Types of Heart Diseases: Their Causes and Symptoms 
 
6) a)   Paragraphs A and E 
 

b) i) 
 
Check Your Progress 2 
 
1) At 4 child begins school. 
 
2) e.g. water covers 71% of earth’s surface 
 
3) Heart dis. 1/2 m. deaths p.a. in U.S.A. 
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Xerophthalmia  

 
4) defcy of Vit. A 
 

 Night blindness 

 

5) Road conditions → higher fuel consumpn (↔) more pollution 
 
Check Your Progress 3 
 
1) Theories of Aging 
 
2) Accident, being eaten up by a predator, disease, old age. 
 
3) d) 
 
4) These could be various kinds of disease-causing bacteria, germs, and virus. 
 
5) 1)   Aging a process of progve detn in structure and function of cells 
 

2) Different theories 
 

1) adverse changes in envirment 
 

2) aging — a genetic property of cells 
 

3) a) Compromise theory — interacn between hereditary factor and 

environment. 
 

b) higher rate of metabolism — hastens process of aging 
 

c) Immunity theory — decline and disappearance of thymus gland. 
 

3) No comprehensive theory of aging. 
 
Check Your Progress 4 
 
1) Breast abscess: Causes and Prevention. 
 
2) a)   ii 
 

b) iii  
 

c) i 
 
3) a)   B.ab. Definition and cause—b,d 
 

b) Symptoms of B.Ab—e 
 

c) Treatment and Preventn of B. Ab—c,a 
 
Check Your Progress 5 
 
i) Formation of coal 
 
ii)  When it died, it sank in muddy water 
 

iii)  Loss of O2 + H atoms in veg. matter → high % of C. 
 
iv) Sand+mud settled on peat. 
 
v) Pressure of overlying layers + movements of earth’s crust + volcanic heat compressn 

and hardeng of deposits + more C → coal. 
 
 

 

2.9 FURTHER READINGS   

 
Note - taking - I:   
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Michael Wallace: Study Skills in English, Cambridge-Cambridge University Press.   

Sarah Freeman: Study Strategies in English, Orient Longman. 21 
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UNIT 3  NOTE-TAKING -II: USE OF TABLES 

AND GRAPHIC ORGANISERS 
 
 
Structure 
 
3.0 Objectives 
 
3.1 Introduction 
 
3.2 Organization of Notes: Tables  

3.2.1 A Passage Giving Information in the Form of Figures  
3.2.2 A Passage Giving a Contrastive Description  
3.2.3 A Passage Presenting Different Aspects of a Topic 

 
3.3 Organization of Notes: Graphic Organisers  

3.3.1 Flow-charts  
3.3.2 Diagrams  
3.3.3 Tree Diagrams  
3.3.4 Other Diagrams 

 
3.4 Let Us Sum Up 
 
3.5 Key Words 
 
3.6 Answers to Check Your Progress  
 

3.0 OBJECTIVES  
 
After reading this unit, you will be able to: 
 

¶ develop skills in organizing notes in a variety of 

ways; and  

¶ apply the knowledge of graphics while developing 

the notes. 
 
3.1 INTRODUCTION   
 
This is the second unit on Note-taking. In Unit 2 we discussed the taking of notes from 

reading material in terms of the following: 
 

i. reading with a purpose in mind so as to differentiate between paragraphs that 

contain essential information and those that do not. 
 

ii.  the use of shortening devices such as the use of abbreviations and symbols which will 

save time and effort. 
 

iii.  the ability to organise the material in terms of headings and subordinate points. 
 
In this unit we shall continue our discussion on notes from reading material. We shall, 

however, concentrate on the organisation of notes in terms of tables, charts, and diagrams 

and other graphic organisers. 
 
Graphic organisers are of value in developing/arranging ideas graphically. Major ideas are 

connected to supporting ideas and details by a systematic arrangement of lines, circles and 

arrows. Four types of graphic organizers have been found appropriate for content area 

subjects. These are: 
 

i. thematic map that shows the elements and details of theme materials; 
 

ii.  the classification map that shows relationships among concepts; 
 

iii.  the comparative-contrastive map that compares and contrasts two or more groups or 

events; and 
 

iv. the sequential episodic map that shows time-order.   
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3.2 ORGANIZATION OF NOTES : TABLES   
 

We often have to take notes from passages which contain figures, numbers, contrasts (that 

is, differences between two things or persons), or different aspects of a single topic. It is 

then convenient to organise our notes in the form of lists or tables. This makes it easier to 

read and retain/remember the information later. 
 

3.2.1 A Passage Giving Information in the Form of Figures 
 
Your purpose in reading the following passage will be to find out the quantity of the 

different varieties of cooking oil used in the country and the regions where different kinds 

of oil are used. 
 
Example 1 
 
Edible oils are an important constituent of Indian diet. Besides being a source of energy, 

they add a special flavor to food and provide a lubricating action to body-tissues. In recent 

years, their associations with different human diseases and their adulteration have become 

a health problem for people. 
 
A variety of cooking oil are commonly used in different parts of the country. The major 

sources are groundnut oil (14,00,000 tonnes), mustard oil (6,00,000 tonnes) and sesame 

and coconut oil (1,50,000 tonnes). Sunflower oil (1,00,000 tonns), safflower oil (25,000 

tonnes) and soyabean oil (10,000 tonnes) have also become popular. Groundnut and 

sesame oil are common in the west coast and central India; coconut oil in the south; 

mustard oil in Bengal, Bihar and Orissa in the east, and Kashmir in the north. The annual 

per capita consumption of edible oil in the country was about 6 kg in 1984, which is 

lower than the world average of 11 kg and the average of 26 kg in developed countries. It 

is higher in the high socio-economic status group due to their use of fried preparations. It 

is however desirable that the daily intake of fat should not contribute more than 15%-

20% calories in the diet. 
 

(From Science Reporter, September 1987) 
 
Check Your Progress 1 
 

1. Why are edible oil an important part of any diet? 
 

...................................................................................................................................... 
 

...................................................................................................................................... 
 

...................................................................................................................................... 
 

2. Why have edible oil become a health problem in recent years? 
 

...................................................................................................................................... 
 

...................................................................................................................................... 

 

...................................................................................................................................... 
 

3. Which social group has a higher per capita consumption of edible oil in India? 

Why? 
 

...................................................................................................................................... 
 

...................................................................................................................................... 
 

4. The daily intake of fat in our diet should be: 
 

a. less than 20% 
 

b. more than 20% 

 

c. around 40% 

 
Note-taking-II:   

Use of Tables and Graphic 

Organisers 
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Study Skills 5)   The passage above has a lot of figures. These figures can be understood better if 

   they are arranged in a table as shown below. Read the passage carefully again, and fill 

   in the gaps in the table. Do not forget to write the main heading and the subordinate 

   headings where required. 
 

 Notes 1  

    

Name of Oil  Regions where used  
    

1) Groundnut oil    
    

2) 6,00,000 tonnes   
    

3) Sesame oil  west coast & central India  
    

4) Coconut oil    
    

5)    
    

6)    
    

7) 10,000 tonnes   
    

 

3.2.2 A Passage Giving a Contrastive Description 
 

When you have to take notes from a passage which points out the differences between 

two things, it is often most convenient to write the notes in the form of a table. 
 

Example 2 
 

Leukaemia 
 

Read the following passage carefully and take down notes while you read it. 
 

Leukaemia is any of the several types of cancer in which there exists a disorganised 

proliferation of white blood cells in the bone marrow (the tissue from which all blood cells 

originate). The production of red blood cells, platelets, and normal white blood cells is 

impaired as normal cells are crowded out from the marrow by the leukaemic cells 

(abnormal white cells). Other organs, such as the liver, spleen, lymph nodes, testes, or 

brain, may cease to function properly as they become infiltrated by the leukaemic cells. 

The number of leukaemic cells circulating in the blood may be high. 
 

Leukaemias are classified into acute and chronic types. Acute leukaemia generally 

develops more rapidly than chronic leukaemia. They are also classified according to the 

type of white cell that is proliferating abnormally. If the abnormal cells are derived from 

lymphocytes or from lymphoblasts (immature precursors of lymphocytes), the leukaemia 

is called lymphocytic or lymphoblastic leukaemia, if the abnormal cells are derived from 

other types of white blood cells or their precursors, the leukaemia is known as myeloid, 

myeloblastic, or granulocytic leukaemia. 
 

Each year over 5,000 new cases of leukaemia are diagnosed in the UK, and there about 

3,500 deaths from this cause. 
 

Acute Leukaemia is a type of leukaemia in which the white blood cells produced in 

excess within the bone marrow are immature cells called blasts. Untreated, acute 

leukaemia can be fatal within a few weeks to months. Treatment today can often prolong 

life and may even provide a complete cure. 
 

About 2,500 cases of acute leukaemia are diagnosed annually in the UK. The two main 

types are acute lymphoblastic leukaemia (ALL) and acute myeloblastic leukaemia 

(AML). The incidence of ALL seems to be more in children. Both ALL and AML seem 

to result from a mutation in a single white cell altering its genetic structure. The cell 

undergoes an uncontrolled series of divisions until billions of copies of the abnormal cell 

are present in the bone marrow, blood, and other tissues. 

 
24   

CMYK 



CMYK 

 
There are a number of possible causes for the original mutation. One type of acute 

lymphoblastic leukaemia is thought to be caused by a virus similar to the one that causes 

AIDS. Exposure to certain chemicals (such as benzene and some anticancer drugs) and to 

atomic radiation or radioactive leaks from nuclear reactors can be a cause. Inherited factors 

may play a part; there is an increased incidence in people with certain genetic disorders 

and chromosomal abnormalities. People with certain other blood disorders, are also of 

increased risk. 
 
The symptoms and signs of both types of acute leukaemia are caused by overcrowding of 

the bone marrow by blasts and by infiltration of organs by the abnormal cells. The 

overcrowding causes the marrow's failure to produce normal blood cells of all types. 

Bleeding gums, tenderness of the bones, frequent bruising, headaches, enlarged lymph 

nodes and repeated chest or throat infections, herpes zoster or skin and other infections 

are common. 
 
The diagnosis of acute leukaemia is based on a bone marrow biopsy that confirms an 

abnormal number of blast cells. The blast cells are sometimes also seen in the blood. 
 
Treatment includes giving the patient transfusions of blood and platelets, and the use of 

anticancer drugs to kill the leukaemia cells. These drugs tend to make the patient even 

more susceptible to infection, so powerful antibiotic drugs may also be given. 
 
The course of drug treatment may last for many weeks. When there is no evidence of 

leukaemic cells in the blood or bone marrow, a state of remission is said to have been 

achieved. However, without repeated courses of treatment, the leukaemia often relapses 

(returns). For this reason, the use of drugs is usually continued for many weeks after 

remission. If the leukaemia relapses after the first remission, a bone marrow transplant may 

be considered. Increasingly, the practice is to offer bone marrow transplantation during the 

first remission to guard against relapse. 
 
The outlook for people with acute lymphoblastic leukaemia is generally better than it is for 

acute myeloblastic leukaemia, and it is better for children than for adults. 
 
Chronic Lymphocytic Leukaemia is a type of leukaemia caused by proliferation of 

mature-looking lymphocytes (a type of white blood cell that plays an important role in the 

body’s immune system). Although incurable, the disease is not invariable fatal. 
 
There are about 1200 new cases of chronic lymphocytic leukaemia diagnosed annually 

in the UK. Nearly all patients are over 50. The cause of the disorder is unknown. 
 
Symptoms develop slowly, often over many years. Many cases are discovered by chance 

when a blood test is performed. In addition to features common to acute forms of 

leukaemia, symptoms and signs may include enlargement of the liver and spleen, persistent 

raised temperature, and night sweats. 
 
Chronic lymphocytic leukaemia is diagnosed by finding large number of lymphocytes, all 

the same type, in the blood and on a bone marrow biopsy. The severity of the disease is 

assessed by the degree of liver and spleen enlargement, anaemia, and lack of platelet cells 

in the blood. In many cases, no treatment is required if the disease is mild. In more severe 

cases, anticancer drugs are given by mouth, sometimes combined with radiotherapy. Other 

measure include transfusions of blood and platelets, antibiotic drugs to combat infection, 

and immunoglobulin injections to boost the patient's immune system. 
 
The progression of chronic lymphocytic leukaemia is slow. More than half of the patients 

survive for five years from the time of diagnosis. Eventually, death may result from 

overwhelming infection but many patients die from causes unrelated to their leukaemia. 
 
(Adapted — From Complete Family Health Encyclopedia, The British 

Medical Association, 1996). 
 
Check Your Progress 3 
 
Read the passage again and answer the following questions. These questions help you 

understand the passage better. 

 
Note-taking-II:   

Use of Tables and Graphic 

Organisers 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

25  
CMYK 



 CMYK     

Study Skills 1) Find the meaning of the following words from a dictionary and write them here: 

    a) Proliferate 

     .................................................................................................................................. 

    b) Infiltrate 

     .................................................................................................................................. 

    c) Precursors 

     .................................................................................................................................. 

    d) Mutation 

     .................................................................................................................................. 

    e) Susceptible 

     .................................................................................................................................. 

   2) a) What is Leukaemia? 
 

................................................................................................................................ 
 

................................................................................................................................ 
 

b) Which organs are affected most by leukaemic cells? 
 

.................................................................................................................................. 
 

.................................................................................................................................. 
 

3) Name the four main types of leukaemia mentioned in the passage. 
 

a) ................................................................................................................................ 
 

b) ................................................................................................................................ 
 

c) ................................................................................................................................ 
 

d) ................................................................................................................................ 
 

4) What is the difference between the following: 
 

a) Acute and chronic leukaemia 
 

.................................................................................................................................. 
 

.................................................................................................................................. 
 

.................................................................................................................................. 
 

b) Lymphoblastic leukaemia and myeloblastic leukaemia? 
 

.................................................................................................................................. 
 

.................................................................................................................................. 
 

.................................................................................................................................. 
 

.................................................................................................................................. 
 

5) Complete the table contrasting acute lymphoblastic and chronic lymphoblastic 

leukaemia. 
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Notes 2 

 

 Acute lymphoblastic Chronic Lymphoblastic 

 Leukaemia Leukaemia 
   

Proliferation of  Proliferation of mature 

Lymphocytes  looking lymphocytes 
   

Incidence More in children  
   

Causes  Unknown 
   

Symptoms and signs   
   

Diagnosis Based on bone marrow  
 biopsy  
   

Treatment   
   

 

Read the completed table of question 5 again which contrast Acute Lymphoblastic 

Leukaemia and Chronic Lymphoblastic Leukaemia. Note that the table is arranged in such 

a way that you are able to find out at a glance, the basis on which the contrast is made. 
 
viz. — the nature of lymphocytes, incidence, causes, symptoms and signs, diagnosis and 

treatment. This method of organisation helps you to present a clearer picture of the 

information, which will be useful to you when you have to revise your work later. 
 
Also the basis of contrasts are more or less in the same order in which the information is 

presented in the passage. It is however, not necessary to do this. Often you may have to 

arrange the notes in an order different from what it is in the original text. This will 

probably happen if you wish to highlight some points. 
 

3.2.3 A Passage Presenting Different Aspects of a Topic 
 
When taking notes on different aspects of a single topic it is often helpful to write them out 

in the form of a list or table. It is then much easier to read and recall the information later. 
 
Given below is a passage on Bronchitis 
 
Make notes keeping in view the following points: 
 
What is Bronchitis? 
 
When does it happen? 
 
What are the problems? 
 
What is the treatment? 
 
Bronchitis 
 
Bronchitis is a distressing and often serious type of inflammation affecting the windpipes, 

or bronchial tubes, within the chest. In most cases it seems to follow some infection higher 

up in the nose and throat. The common cold is probably the most frequent cause of acute 

bronchitis. 
 
In most cases of bronchitis the larynx, trachea, and bronchial tubes are acutely inflamed. 

The tissues are swollen because of irritation; large quantities of mucus are secreted and 

poured into the windpipes to protest the inflamed mucous membranes. Unless this thick, 

sticky material is removed, it may seal off several of the windpipes, causing atelectasis 

and even pneumonia. 
 
During the acute stage of bronchitis there is usually a high fever and perhaps some 

difficulty in breathing. Almost constantly there is also a deep chest cough. There may 

also be considerable hoarseness, and some pain in the chest. Difficulty in breathing 

continues until the inflammation has died down, and the thick secretions have been 

removed. 

 
Note-taking-II:   

Use of Tables and Graphic 

Organisers 
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Study Skills Moist steam inhalations are beneficial in treating severe bronchitis. This treatment should 

   be continued day and night during the more severe stages of the attack. Fomentation, or 

   hot packs to the chest, will also help to relieve the cough. Penicillin or some other suitable 

   antibiotic medicine should be given daily until the condition is brought under control. If 

   there is extreme difficulty in breathing, it may be necessary for the doctor to perform a 

   tracheotomy, so that the patient will have a airway through which to breathe. 

   (Adapted From Power Guide to Health, Oriented Watchmen Publishing House, India, 1979). 

   Check Your Progress 4 

   You have read the passage carefully and taken notes. Now arrange the notes that you have 

   taken into a table. You may refer to Note 2 to help you arrange your notes. After you finish, 

   compare your notes with the specimen answer given at the end of the unit. 

   Notes 3  
 
 
 
 
 
 
 
 
 
 
 
 
 

 

3.3 ORGANIZATION OF NOTES : GRAPHIC 

ORGANIZERS 
 
 

When the information in a paragraph can be presented visually, it is better to use a 

drawing, a flow chart or a tree diagram. This is especially true of scientific material, where 

it is simpler and clearer to express information in the form of a labeled diagram than by 

using words only. The diagram should present a mental picture of what you understand 

from the paragraph. This will make it easier for you to understand the information given in 

the paragraph. 
 

3.3.1 Flow-charts 
 

Example 3 
 

Your purpose in reading the passage below will be to learn about the fine structure of the 

kidneys. 
 

i) Underline those parts of the text that describe the changing composition of the 

solution as it passes through the kidney. 
 

ii)  Underline the several fine structures of the kidney which are involved in these 

changes. 
 

iii)  Draw up two parallel ordered lists, one column showing parts of the kidney and the 

other stating what happens in each of these parts. 
 

ii)  Develop a flow diagram to show the action of the kidney. 
 
 The Fine Structure of the Kidneys 

 The kidney is composed of a vast number of tiny tubules held together by connective 

 tissue. Each tubule has a cup called Bowman's capsule, whose wall is one cell thick. The 

 capsule opens into a coiled tubule known as the first convoluted tubule. This lies in the 

 cortex of the kidney. The tubule continues as the loop of Henle which occupies the 

 medulla, returning to the cortex to become the second convoluted tubule. This second 
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Flow diagram to show the action of kidneys  

 
Note-taking-II:   

Use of Tables and Graphic  
Organisers 

 

 

Renal artery       

Arterial branches       

         

Unpurified blood        
under pressure        

         

         

Glomerulus 
    Salts, sugar, Urea  

Bowman’s capsule    

some quite large 
 

     

        

     molecules    
       

       

Remaining blood including red       
and white corpuscles, larger       

molecules and some water    
First convoluted loop       

       

Arterioles and interstices       
        

    Glucose, necessary salts, water   
Loop of Henle 

Renal vein 

     

 re-absorption    
        
 

Second convoluted  
loop  

Purified blood  
 
 
 

Urine-excess water +  
excess salts and urea 

 
 

 
Collecting duct  

 

 
Circulatory system Ureter  

 
 
 
 

 
Bladder 

 

 

the kidney. The Bowman’s capsule surrounds a knot of blood capillaries called the 

glomerulus. 
 
The Functioning of the Kidneys 
 
The diameter of the branch of the renal artery entering the glomerulus is considerably 
greater than that of the branch leaving it. This imposes a considerable pressure on the 
contents of the capillaries of the glomerulus and results in the blood being filtered under 
pressure. Sugars, salts, urea and even quite large molecules like proteins pass through the 
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Study Skills semi-permeable wall in solution into the cavity of the Bowman's capsule. The solution then 

   passes through the first convoluted tubule into the loop of Henle, where much of the water 

   and all of the glucose and other useful substances are reabsorbed. In this way, the 

   composition of the blood is regulated. The urine then passes through the second 

   convoluted tubule and the collecting duct into the pelvis of the kidney. Day and night, 

   urine drips down the ureter into the bladder where it collects. The wall of the bladder is 

   composed of muscular and elastic tissues. The urethra is kept closed by the contraction of 

   the sphincter muscle at the neck. As urine accumulates in the bladder, the elastic walls are 

   stretched until it contains about half a litre. Eventually, the sphincter muscle, which is a 

   semi-voluntary muscle, relaxes and the muscle fibres in the bladder wall contract expelling 

   the urine through the urethra.  

     

   Parts of the kidney What happens here 
     

   Renal artery Carries blood to the kidney 

   Bowman's capsule Blood filtered under pressure 

   First convoluted tubule Solution from Bowman's capsule passes through here 

   Loop of Henle Some water, glucose and other useful substance 

    reabsorbed 

   Second convoluted tubule Solution from loop of Henle passes through here 

   Collecting duct Urine passes through here on its way to the ureter 

   Ureter Takes urine to the bladder 

   Bladder Stores urine until it is released down the urethra 

   Renal vein Takes filtered blood away 
     

 
Source: Learning From the Written Word: Eric Linger (1984) Oliver & Boyd. 

 

3.3.2 Diagrams 
 

We have already said that a labelled diagram can help us to remember better the 

information that may be given in many paragraphs. The following exercise will help you 

to appreciate this point better. 
 

Check Your Progress 5 
 

1) Read the procedure for cataract surgery carefully. Write the steps of the surgery 

in a flowchart. You will find some sentences/words/phrases not important to be 

included in the flowchart. Compare your answer with the solution given at the 

end. 
 

Procedure for Cataract Surgery 
 

In a normal, healthy lens there is no interference with the passage of light-rays. Even 

with peripheral opacities, vision is not limited until the central zone is affected. 

Dense nuclear opacities, result in deteriorating vision and cannot be restored to 

transparency, hence the need for surgical replacement. 
 

In preparation for surgery, measurements are taken of the cornea and of the length of 

the eye, in order to calculate the power of the lens implant needed to restore vision 

fully. The operation may be performed using general or local anaesthesia; there is no 

pain in either case. Instruments of remarkable delicacy and precision are used to carry 

out the procedure, usually with the help of microscope magnification. 
 

Before the operation, drops are used to widen the pupil so that most of the front 

surface of the lens is exposed. An incision is made around the upper edge of the 

cornea using an instrument with a diamond tip. 
 

A small quantity of a clear gel (sodium hyaluronate) is injected to maintain a 

space between the back of the cornea and the lens. 
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A large part of the centre of the front capsule of the lens is then removed and the hard 

nucleus of the lens carefully removed. The soft remaining parts of the lens are then cleared 

away, leaving the back of the capsule. 
 
The artificial implant is slipped into the natural lens capsule, plastic loops hold it in place. The 

corneal incision is sewn up with fine nylon thread about half the diameter of a human hair. 
 
(Adapted from Complete Family Health Encyclopedia, British Medical Associations, 

Dorling Kindersley 1996). 
 

Notes 4 
 

Procedure for cataract surgery  
 

Measurements of the cornea and  
length of eye taken 

 
 
 
 
 
 
 
 
 
 
 
 

Small quantity of sodium  
hyaluronate injected  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

Artificial implant slipped into natural  
lens capsule 

 
 
 
 
 

 

2) Read the paragraphs carefully and answer why certain procedures are important. 

 

  Procedure Necessity 
    

 1) Measurement of the cornea and To calculate the power of the lens implant 

  length of the eye taken needed. 
    

 2) Drops used to widen the pupil.  
    

 3) Small quantity of clear gel injected  
    

 
Note-taking-II:   

Use of Tables and Graphic 

Organisers 
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Structure of the Eyeball 

 
The eyeballs lie in pads of fat within the orbits, bony eye sockets that provide protection 

from injury. Each eyeball is moved by six delicate muscles, the action of these muscles, 

for both eyes being coordinated by a nerve network in the brainstem. 
 

The eyeball has a tough outer coat, the sclera (white of the eye). The front circular part of 

the outer coat, the cornea, is transparent and protrudes slightly. The cornea serves as the 

main “lens” of the eye and performs most of the focusing. Behind the cornea is a shallow 

chamber full of aqueous humour (watery fluid), at the back of which is the iris (coloured 

part) with its pupil (central hole) which appears black. Tiny muscles alter the size of the 

pupil with changes in light intensity to control the amount of light entering the eye. 
 

Immediately behind the iris, and in contact with it, is the crystalline lens, suspended by 

delicate fibres from a circular muscle ring called the ciliary body. Contraction of the ciliary 

body alters the shape of the lens; this provides the eye with some focusing power 

additional to that provided by the cornea. Behind the lens is the main cavity of the eyeball, 

filled with a clear gel (the vitreous humour). 
 

On the inside of the back of the eye is the retina, a complex structure of nerve tissue on 

which the image formed by the cornea and the crystalline lens falls. The retina requires a 

constant supply of oxygen and glucose. To meet this need, a thin network of blood 

vessels, the choroids plexus, lies immediately under it. The choroids is continuous at the 

front with the ciliary body and the iris; these three parts constitute the uveal tract. 
 

Check Your Progress 6 
 

1) Read carefully the paragraphs on the structure of the eyeball and carefully label the 

different parts of the eyeball. Compare your answer with the diagram given at the end. 
 

Notes 5  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

2) Make a table with two columns. Write parts of the eyeball in Column A and 

their functions in Column B.  
 

Parts of Eyeball Function of the Parts 
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3.3.3 Tree Diagrams 
 
You already know that different kinds of passages lend themselves to different kinds of 

organisation when we make notes. Passages that have information of a classificatory 

nature for instance can be analysed by means of tree diagrams. Such diagrams are useful 

both in classifying the information and presenting it in the right order. 
 
The passage below deals with different chordates. Read it carefully and note how the 

classification tree is organised. 
 
Example 4 
 
Chordates 
 
The chordates are a large and highly diverse animal group, which comprises vertebrates or 

animals with backbones (often referred to as the higher chordates), as well as a group of 

animals which lack vertebrae but which resemble vertebrates in other important respects. 

These are referred to as protochordates or lower chordates. The vertebrates are divided 

into five classes: fishes, amphibians, reptiles, birds and mammals. Each of these five 

classes can be further subdivided into smaller groups: for example, mammals can be 

classified into 18 groups, known as orders. Examples of orders are marsupials (such as 

kangaroos), primates (including man and monkeys) and carnivores (including dogs and 

cats). The class of reptiles consists of five orders: examples of these are crocodilians 

including crocodiles and alligators) and squamata, examples of which are snakes and 

lizards. 
 

From: Larousse Encyclopedia of Animal Life (Hamlyn)  

 
Chordates 

 
Note-taking-II:   

Use of Tables and Graphic 

Organisers 

 
 

 

Chordates Chordates  
 
 
 
 
 
 

 
Reptiles Mammals 

 
 
 
 

 

Marsupials  Primates  Carnivores 
     

 

Check Your Progress 7  

Read the passage and answer the questions that follow.  

The Role of Transport in Commerce  

The economic system of any country is largely dependent upon the efficiency of its  
transport system. Without the help of a good transport system, the expansion in national  

and international trade would never take place.  

Broadly, the means of transport both for purposes of trade and social activity can be  
classified into three main divisions: land, water and air. We are, here, concerned with  

transport for trade. Of all the forms of transport, road transport has shown the greatest  

growth in recent years. Road transport is also used as a complementary means of transport.  

Road are indispensable links for carrying goods and people to and from railway stations,  

ports and airports. 33  
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Transport by road may be both vehicular and non-vehicular. Non-vehicular transportation 

includes both animal and man. Animals such as horse, mules and yaks are frequently used 

for carrying goods and passengers in hilly areas. Camel is the only means of transport in 

desert areas. Man is also sometimes used to carry goods. In hilly areas, porters and coolies 

carry goods on their backs and heads. This type of transport is generally used when 

animals, carts or vehicles cannot be used. Vehicular transport in developing countries 

includes the ancient bullock carts, as well as the modern automobiles. The invention of the 

automobiles has been of great significance to modern industry and commerce because of 

their high speed and low cost per kilometer. 
 
The introduction of the railways has been vital in the growth of industrialization. Railways 

are useful in carrying heavy and bulky goods over long distances. They are especially 

favored because, unlike other modes of transport, they are unaffected by weather 

conditions. 
 
Water transport is one of the oldest forms of cargo transport. Though it is slow, it is the 

cheapest form of transport. Water transport includes inland transport and ocean transport. 

Inland waterways are rivers and canals. While rivers are “naturally” created, canals are 

artificial waterways. Inland waterways are not always reliable. Sometimes rivers change 

their course abruptly, which may cause dislocation of traffic. In times of drought they may 

run dry. 
 
Ocean or sea transport is very important for the growth of foreign trade of any country, 

especially as it is cheaper than air transport. It is particularly useful for carrying bulky 

goods over long distances, especially when time is not the essential factor. 
 
The greatest advantage of air transport is that it has reduced the time and distance barrier 

to a great extent. However, air transport is the costliest means of transport because of the 

high cost of planes, their operation and maintenance. It is generally used rather sparingly 

for carrying light freight. 
 
1. In what way is road transport ‘a complementary means of transport for other types of 

transport’? 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 
2. When is man used as a means of transporting goods? 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 
3. What types of vehicles do you think are included in the word ‘automobiles’? 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 
4. Fill in the gaps below: 
 

…………..............…… i) ............................... is one of the oldest forms of transport. It is 

also ............................................................ ii) ……….. than any means of transport. Water 

transport included both iii) .................................................... and …..........................……… 

iv) ….....................transport.   
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5. What are some of the disadvantages of inland waterways as a means of transport? 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 
 
6. What is the advantage and disadvantage of air transport? 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 
7. Read the passage on transport again. Then organise your notes in the form of a tree 

diagram. Some help is provided for you.  
Notes 6  

Transport System  

 
Note-taking-II:   

Use of Tables and Graphic 

Organisers 

 
 
 
 
 
 
 

(i)  (ii)   (iii)  

     
 
 

 

Road Rail 
 
 
 

(x) (xi) 
 
 

 

Vehicular (iv) 
 

 

(xii)  (xiii)  
 
 
 

 

(v) Man 
 
 
 
 
 
 
 
 

 

(vi) (vii)  (viii)  (ix) 
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3.3.4 Other Diagrams 
 

Besides flow charts and tree diagrams, there are other kinds of diagrams as well which 

are used to summarize the written material. Descriptive passages on scientific topics or 

passages which show processes can sometimes lend themselves to such diagrams. You 

must realize that this is not a common note-taking technique. Only when you feel that a 

diagram will help you understand and memorize a piece of information better, it is wise 

to use it. Read the passage below on ‘the Atmosphere’ carefully and take notes as you 

read along. 

 

Example 5 

 

The Atmosphere 

 

Although we cannot see it, taste it, or smell it, the air that surrounds the earth is vital for 

life. It provides the gases needed for human, animal and plant life. Of these gases, oxygen 

makes up about 21 percent and nitrogen about 78 per cent of the volume of dry air. Other 

gases, such as argon, carbon dioxide, hydrogen, neon, krypton and xenon, comprise the 

remaining one per cent. The amount of water vapour and its variation in amount and 

distribution is of great importance in weather changes. The atmosphere has no definite 

upper limits, but gradually thins until it becomes imperceptible. However, the atmosphere 

has three well-defined layers. The layer of air next to the earth, which extends upwards for 

about ten miles, is known as the troposphere. Most of the air and water vapour are in the 

troposphere. It is the warmest part of the atmosphere because most of the solar radiation is 

absorbed by the earth’s surface, which warms the air immediately surrounding it. The 

temperature decreases by about 11.20C for every mile as one travels upwards through the 

troposphere. Most of the features that govern our weather, including most clouds and wind 

systems, occur in the troposphere. Strong winds moving at more than 160 kms an hour are 

located at the upper levels of the troposphere. These are known as JET STREAMS and are 

important to pilots of jet aircrafts who fly in this zone. 

 

Above the troposphere to a height of about 50 miles is a zone called stratosphere. The 

stratosphere is separated from the troposphere by a zone of uniform temperature called the 

tropopause. Within the lower portions of the stratosphere is a layer of ozone gases which 

filters out most of the ultraviolet rays from the sun. If this zone was not there, the full blast 

of the sun’s ultraviolet light would burn our skins, blind our eyes, and eventually result in 

our destruction. Within the stratosphere, the temperature and atmospheric composition are 

relatively uniform. 

 

The ionosphere extends to a height of 300 miles above the earth. The air, here, is 

extremely rarefied. It is called the ionosphere because it consists of electrically charged 

particles called ions, thrown from the sun. The northern lights (aurora borealis) originate 

within this highly charged portion of the atmosphere. Its effect upon weather conditions, if 

any, is as yet unknown. 

 
(Adapted from Caxon Atlas of the Earth) 

 

Check Your Progress 8 

 

1)Read the passage again and state whether the following statements are true (T) or 

false (F). 

 
a) The major gases in the atmosphere are nitrogen and oxygen. ( ) 

 
b)  The distribution of gases in the atmosphere is of vital importance for  
 changes in the weather. ( ) 

c) The warmest part of the atmosphere is the stratosphere. ( ) 

d) Features that affect weather conditions are found in the troposphere. ( ) 

e) In the tropopause, the temperature is relatively stable. ( )  
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f) If the ozone layer is destroyed or damaged, gradually all life on earth will be  

destroyed. ( ) 
 

g) The air in the ionosphere is extremely thick. ( ) 
 

2)Fill in the gaps with suitable words/phrases. 
 
The atmosphere is a region of gases ……..…… i) ………. the earth. It is divided into  
……….. ii) ……….. layers. The …………….. iii) …….........................………. is called 

the troposphere. It extends upwards ……………….. iv) ……….. The …….. v) ………… 

is called the stratosphere and it extends to a height ……………… vi) ………… The 

presence of ………. vii) …………….. in the …….. viii) …………… of the stratosphere 

prevents the ………………… ix) …………… of life. …………… x) .………….. the 

stratosphere is the ……….......................................………. xi) ……......…… 
 

3) Make a diagram of the different layers of the atmosphere and write the salient 

features of the different layers. 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................  
 

 

3.4 LET US SUM UP  
 

In the first unit on note-taking we described the technique of note-taking in terms of the 

organisation of notes into headings and subordinate points. In this unit we have discussed 

the organisation of notes in the form of tables, charts and diagrams. We have also suggested 

that different kinds of material lend themselves to different techniques of note-taking.  
 

 

3.5 KEY WORDS  
 

Contrastive : Showing the differences between two things 

Diagram : A graphical representation of a process, system etc. 

Figures : Numbers 

Flowchart : A diagram showing the stages of a process 

Table : A list of facts, numbers, etc., systematically arranged, 

  especially in columns  

 
Note-taking-II:   

Use of Tables and Graphic 

Organisers 

 

 

3.6 ANSWERS TO CHECK YOUR PROGRESS  
 

Check Your Progress 1 
 
1) Because they are a source of energy, add flavour to food, and provide a lubricating 
action to body tissues. 
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2) Mainly because they are often adulterated and have in recent years also been 

associated with some diseases. 
 
3) The group that has a higher socio-economic status. This group uses more fried 

preparations 
 
4) a) 
 
5) Edible Oil  
 

Name of oil Quantity  Regions where used 
    

1) Groundnut oil 14,00,000 tonnes West coast & Central India 
    

2) Mustard oil 6,00,000 tonnes Bengal, Bihar, Orissa, Kashmir 
    

3) Sesame oil 1,50,000 tonnes West coast & Central India 
    

4) Coconut oil 1,50,000 tonnes Southern India 
    

5) Sunflower oil 1,00,000 tonnes  
    

6) Safflower oil 25,000 tonnes No particular regions 
    

7) Soyabean oil 10,000 tonnes No particular region 
    

 

Check Your Progress 3 

 

1) a)   Proliferate— rapid increase 

 

 b) Infiltrate—penetrate 

 

 c) Precursors—predecessor, something that happened or existed before 

something else. 

 

 d) Mutation—a change in the genetic structure of an animal or plant, very 

important change 

 

 e)Susceptible—likely to be infected 

 

2) a) Leukaemia is a type of cancer in which there is an abnormal increase of 

white blood cells in the bone marrow. 

 

b) Liver, spleen, lymph nodes, testes or brain 

 

3)        a.   Acute Lymphoblastic Leukaemia 

 

b. Acute myeloblastic Leukaemia 

 

c. Chronic Lymphocytic Leukaemia 

 

d. Chronic myeloid Leukaemia 

 

4)      a)     Acute Leukaemia develops more rapidly than chronic leukaemia 

 

b) This classification is according to the type of white cell that proliferate 

abnormally. If the abnormal cells are derived from lymphocytes or 

lymphoblasts it is called lymphoblastic leukaemia. If the abnormal cells are 

derived from other types of white blood cells or their precursors, the 

leukaemia is called myeloid or myeloblastic.   
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5)        Note-taking-II:  

         Use of Tables and Graphic 
         Organisers 

      ALL  CLL   
         

   Proliferation of  Proliferation of immature cells Proliferation of mature looking   
   Lymphocytes  called blasts lymphocytes   
         

   Incidence  More in children More in adults above fifty.   
          

   Causes   Mutation is single cell. Original Unknown   
      mutation can be caused by virus,    

      exposure to chemicals, radioactivity,    

      chromosomal abnormality    
         

   Symptoms and  Overcrowding of bone marrow Overcrowding of bone marrow,   
   signs   by blasts, infiltration of organs enlargement of liver and spleen.   

      by abnormal cells. anaemia, persistent raised   

       temperature, night sweats.   
         

   Diagnosis  Based on bone marrow biopsy Presence of large number or   
       lymphocytes in blood and bone   

       marrow.   
         

   Treatment  Blood transfusion, anticancer Anticancer drugs, radiotherapy   
      drugs    
       

Check Your Progress 4     

Bronchitis — Serious inflammation of the bronchial tubes    

Cause — Common cold    
 

Problems — Fever, difficulty in breathing, chest cough, hoarseness, pain in the chest, 

difficulty in breathing 

 

Treatment — Steam inhalation, fomentation, penicillin or other antibiotics. 

 

Check Your Progress 5 

 

1) Procedure for cataract surgery 

 

a. Measurement of cornea and length of eye taken 

 
b. Drops used to widen pupil to expose front surface of lens 

 

c. Incision made around the upper edge of the cornea 

 
d. Small quantity of clear gel injected 

 
e. Large part of centre of front capsule of lens round 

 

f. Hard nucleus of the lens removed. 

 
g. Soft remaining parts cleared away 

 
h. Artificial implant slipped into natural lens capsule 

 
i. Corneal incision sewn up 

 

2) Necessity 

 
               2) To expose most of the front surface of the pupil 

 

               3) To maintain space between the back of the cornea and the lens  
39  

CMYK 



CMYK 

 
Study Skills 

 
Check Your Progress 6 
 
1)  

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 Structure of the Eyeball (Labelled Diagram) 

   

2) Parts of the Eyeball Functions of the Parts 
   

 Sclera tough outer coat protecting the eyeball. 
   

 Cornea helps in focusing light rays 
   

 Pupil controls the amount of light entering the eye 
   

 Ciliary body alters the shape of the lens 
   

 Retina image formed by cornea and crystalline 

  lens falls here. 
   

 

Check Your Progress 7 
 

1) Roads are important links for carrying goods and people to and from railway stations, 

 ports and airports. 

2) When other forms of transport, such as animals, carts or vehicles, cannot be used. 

 This generally happens in hilly areas, where porters and coolies carry goods on their 

 backs or heads. 

3) cars, vans, buses, trucks 

4) i) water transport 

 ii)  cheaper 

 iii)  inland 

 iv) ocean 

5) Inland waterways are not always reliable. For example, rivers may change their course 

 abruptly, which may cause dislocation of traffic. In times of drought, they may  
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3) The advantage is that we can save time, and goods can be sent to places much faster. 

The disadvantage is that it is the costliest means of transport, because of the high cost 

of planes, their operation and maintenance. 
 
4)        

i. land 
 

ii.  Water  
 

iii.  air 
 

iv. non-vehicular 
 

v. animal 
 

vi. horses 
 
vii.  mules 

 
viii.  yaks 
 

ix. camels 
 

x. inland 
 

xi. ocean 
 
xii.  rivers 

 
xiii.  canals 
 
Check Your Progress 8 

1)  

       T 
 

 F 
 

 F 
 

 T 
 

 T 
 

 T 
 

 F 

2) 

i. surrounding 

ii.  three 
 

iii.  layer of air next to the earth 
 

iv. for about-10 miles 
 

v. next layer 
 

vi. of about 50 miles 
 
vii.  ozone gases 

 
viii.  lower portions 
 

ix. destruction 
 

x. Above 
 

xi. ionosphere 

 
Note-taking-II:   
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Study Skills 3)   Layers of the Atmosphere   

      Ionosphere  

    Extremely rarified air   

    Aurora borealis originate here  300 miles 

        

      Stratosphere  
    Ozone gases (filter out sunôs ultraviolet rays) 50 miles 

        

      Tropopause  

    Uniform temperture   
        

      Troposphere  

    Strong winds ð jet stream  10 miles 

    Clouds ð Air and water vapour   

    Warmest of all layers temperature decreases with altitude  
        

      Earthôs Surface   
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UNIT 4 NOTE-TAKING -III: 

LISTENING TO A LECTURE  
 
 
Structure 
 
4.0 Objectives 
 
4.1 Introduction 
 
4.2 A Good Listener 
 
4.3 Some Basic Equipment for Note-taking 
 
4.4 Parts of a Lecture 
 
4.5 Taking Notes from a Lecture 
 
4.6 Reconstructing Notes 
 
4.7 Let Us Sum Up 
 
4.8 Key Words 
 
4.9 Answers to Check Your Progress 
 

Appendix: Recorded Texts  

 

4.0 OBJECTIVES  
 
After completing this unit, you will be able to: 
 
¶ strengthen your skills in taking notes from a lecture; 

¶ differentiate among the various parts of a lecture; 

and 
 
¶ develop skill in reconstructing the notes that you have taken.  

 
 

4.1 INTRODUCTION   
 
In the first two units on note taking we dealt with the techniques of taking notes from 

reading texts. In this unit we shall deal with the taking of notes while one is listening to 

lectures. There are some important differences between taking notes while one is reading 

and doing it while one is listening. The special skills required to take notes while one is 

listening will be focused on here. While we shall, in this unit, concentrate mainly on 

‘lectures’, it should help you in other listening activities as well. 
 
After you have taken notes — especially from different sources — it becomes necessary to 

‘reconstruct’ your notes, i.e. rewrite them in a fuller and more comprehensive form. We 

shall also deal with some of the methods of reconstructing notes.  
 

 

4.2 A GOOD LISTENER   
 
Good listening does not begin with listening; you must think before you listen. And you must 

think while you listen too. Even before a lecture or a talk begins, a good listener generally 

prepares himself/herself for what she/he is going to hear — provided, of courses, she/he knows 

the topic of the lecture. If you prepare yourself for all your important listening activities, you 

will learn more easily and more efficiently. The first stage is to ask yourself questions about 

what you are going to hear. If you know the topic or the title of the lecture in advance, try asking 

yourself: do you know anything about the topic at all? What do you expect to learn? How will it 

relate to the other topics that have already been discussed? How do you think it will relate to 

your job/your interests/your opinions on this subject? Questions like these will attune your mind 

to what you are about to hear. They will also make it easier for you to integrate the new 

information, i.e. make it a part of your active knowledge. 

Note-Taking-III:   
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Study Skills You must think while you listen too. As you listen to what the speaker is saying, you think 

 ahead of what she/he may say next. You see how the small points add up to form the main 

 ideas. Often you can spot a point or an idea that is missing. You may even disagree with 

 some of the points that the speaker is making. Then you must make a note of these and put 

 them in brackets. In note taking, unlike summarizing, you are expected to write about your 

 own views as well. 

 Check Your Progress 1 

 Here are some possible topics for lectures. Write down 3 or 4 questions on each topic, 

 which you might expect the lecture to answer. 

 1)   The computer, its capabilities and limitations 

 ........................................................................................................................................ 

 ........................................................................................................................................ 

 ........................................................................................................................................ 

 ........................................................................................................................................ 

 2)   Communication skills for Nurses 

 ........................................................................................................................................ 

 ........................................................................................................................................ 

 ........................................................................................................................................ 

 ........................................................................................................................................ 

 ........................................................................................................................................ 

 3)   Disease: Cholera 

 ........................................................................................................................................ 

 ........................................................................................................................................ 

 ........................................................................................................................................ 

 ........................................................................................................................................  
 

 

4.3 SOME BASIC EQUIPMENT FOR NOTE -TAKING   
 

Besides being mentally alert for taking notes during a lecture, you must be physically 

equipped for it as well. Unlike note taking from a reading text, where you can work at 

your own pace, note taking while listening is a much faster activity. Since you have to 

keep pace with the speaker, you should be ready with some basic materials. These are 

pens/pencils and notebooks/paper. 
 

1) Pens: Choose whatever you are comfortable with. It is a good idea to have pens of 

more than one colour at your disposal. Colour contrast can do a lot to make some 

parts of the information stand out. 
 

2) Notebooks/paper: It is best not to choose a notebook with small-size sheets for your 

notes. Your notes will tend to be cramped in a very small space, and at a later date 

they may even be incomprehensible. A 30 cm. × 22 cm. size notebook will give you 

enough room on each page to lay out your notes properly. 
 

Writing notes on loose sheets of paper which are later put in a file is perhaps the best 

method. You can later rearrange the sheets to suit your convenience: for example, you can 

take passage out if you need them or you can put in, say, newspaper clipping and other 

material relating to your notes at the appropriate place. 
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4.4 PARTS OF A LECTURE  
 

You may have noticed that many lectures can be divided into three parts. 
 
These are: 
 

i. Introduction: The speaker ‘sets the scene’ for his/her lecture. He/she may revise what 

was said earlier. The speaker will probably give you the gist of what he/she is going to 

say in the lecture. 
 

ii.  Main part of the lecture: Here the speaker will make the main points, with examples. 
 

iii.  Summing up: The speaker may round off his/her lecture by going over the 

main points again, or by briefly stating his/her point of view.  
 

 

4.5 TAKING NOTES FROM A LECTURE   
 
Many students have a habit of trying to take down every word of a lecture. They generally 

end up with a lot of rather messy information. When you take down notes, you should be 

selective of what you want to write down. You will naturally want to select the main points 

and some subsidiary points, which relate to the main points. While listening, how do you 

identify the main points and differentiate them from the subordinate points? What are the 

cues that tell you that the speaker is rounding off his/her lecture? Also, how do you 

separate the main text from digressions and repetitions? The different aspects of a lecture 

are usually differentiated by the way, in which the speaker presents them. 
 

i. Before the beginning of a new lecture, a teacher often spends as much as five minutes 

recapitulating what s/he talked about in her/his earlier lecture, and tries to link it with 

the main points of the lecture s/he is about to begin. This prepares the student to listen 

to what the teacher has to say. But remember there is no need to take down notes for 

this part of the lecture. 
 

Some of the semantic markers that the teacher might use are: 
 

If you remember, last time we talked 

abouté In the previous lecture we talked 

abouté In the last lecture we discussedé 

 
ii) Very often the main ideas of a lecture are signaled by semantic markers, such as: 
 
It is important to note thaté 

 
The points you must remember 

areé I would like to emphasizeé 

The next point is crucial to my argumenté 

I would like to direct your attention toé. 

Speakers often list their main points. The semantic markers that can be used are: 
 

First,  
 

In the first 

place, Second, 

Third,  

 
My next point is/Next/Then/After 

that Last,/Finally  

Note-Taking-III:   
Listening to a Lecture 
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Study Skills There are also non-verbal ways of indicating the main points. One method is visual 

 display (e.g., by putting the main points on the blackboard). Sometimes you will find 

 that the lecturer’s facial expression and gestures make the meaning clear. 

 iii)  Often example and points of lesser importance are also signaled. The speaker may use 

 phrases such as:  

 For instance,é. Let me give you some exampleé, 

 For example, I might addé 

 Let's takeé To illustrate this pointé. 
 

(Examples and points of lesser importance should be related briefly to the main points 

as already shown in the earlier units on note taking.) 
 

iv)    When a speaker or even a writer is about to sum up his/her lecture, or a part of it, 

the semantic markers used are likely to be: 
 

To summarize what I have tried to 

say, What I have been saying is thisé 

 
If I can just sum 

upé In conclusion, 

 
v) Speakers often tend to digress, i.e., say things which have very little to do with their main 

topic, or are related to it in a roundabout way. Speakers will sometimes digress deliberately 

in order to make their lecture interesting, amusing, or topical. If the lecture is on a serious 

subject, a humorous digression is used to give a break to the listeners. (There is no need to 

note down digressions.) Digression markers are expressions like 
 

By they way, .................................................................................................................... 
 

I might note in passing ................................................................................................... 
 

I remember this incident that happened in Chicago ..................................................... 

 

vi) Generally, a lecture contains a lot of repetition. This makes the listener’s task much 

easier. While taking down notes, you must make sure that you do not take down the 

same points over and over again. Some phrases which might help you identify 

repetition are: 
 

Let me put it this 

way, In other word, 

To put it in another 

way, That is to say, 
 

To repeat what I have said so far, 
 

Despite the fact that you are positively ‘set’ to listen to a lecture, you may still find 

that at some point of the lecture, your comprehension of it breaks down altogether. 

This may be because the lecturer speaks too fast, or because you have lost track of 

what he/she is saying. It is essential that you do not give up when this happens, but 

listen as intently as you can, jotting down a key word here and there. You may later 

consult other listeners and complete your notes. 
 

Check Your Progress 2 
 

1) You will now listen to six recorded extracts from lectures on different subjects. 

For each extract, write down whether you think 
 

 a) it is the beginning of a lecture,  
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b) it gives the main points of a lecture, 
 

c) it gives an example, 
 

d) it has repetition in it, 
 

e) it has a digression, or 
 

f) it is a summing up. 
 

(You may listen to these extracts at the nearest study centre set up by the university. 

If you are unable to go to the study centre, ask a friend in your neighbourhood who 

speaks English well to read them to you. The texts of these extracts are given in the 

Appendix at the end of this unit.) 
 

Extract 1 : .................................................................................................................... 
 

Extract 2 : .................................................................................................................... 
 

Extract 3 : .................................................................................................................... 
 

Extract 4 : .................................................................................................................... 
 

Extract 5 : .................................................................................................................... 
 

Extract 6 : .................................................................................................................... 
 

2)You will now listen to a lecture (given in the Appendix at the end of this unit) on 

the history and development of the computer as it is today. You may either listen to it 

at home on your cassette player, or at the study centre. In case neither is possible, ask 

a friend in your neighhourhood who speaks English well to read it out to you. Before 

you listen to the lecture, read the questions below. You may attempt to answer the 

questions while you are listening for the second time. 
 

(I) State whether the following statements are true (T) or false (F). 
 

a)  Even today we often count on our fingers and learn counting on 
 

a kind of abacus. ( ) 
 

b)  Napier produced the first logarithm table, which is still used by  
 mathematicians. ( ) 

c) Isaac Newton and Leibnitz together invented calculus. ( ) 

d) The first calculating machine was invented by Charles Babbage. ( ) 

e) Transistors replaced vacuum tubes in the computer. ( ) 
 
                f) As computers evolved, their size increased and also their 
 

dependability. ( ) 
 

g) Today’s computer circuits can be put on a chip. ( ) 
 

II)  Match the information given in Column A with that given in Column B. 
 

 Column A  Column B 

a) Calculus i) a bead frame in which beads are moved 

   from left to right. 

b) Slide rule ii)  used transistors instead of vacuum tubes. 

c) Abacus iii)  a branch of mathematics 

d) The Analytical Engine iv)  the first that used integrated circuits 
 

                 e) Third generation computers       v) could perform thousands of calculations           

per second. 
 

f) Second generation vi) a mechanical device for multiplying  
computers and dividing 

 
g) First generation computers vii)  was never completed. 
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3) Listen to the lecture again (given in the Appendix at the end of this unit) and take 

notes as you listen. What sort of organisation would you suggest for taking notes from 

a lecture with this type of content? You will remember that in the last unit on note 

taking (Unit 2), we suggested that a passage that contained information on different 

aspects of a single topic could be most conveniently set out in the form of a list or a 

table. This lecture has a similar kind of content. Complete the Table below with the 

notes you may have taken. 
 

Notes 1 
 

Time i)  ii)  
    

1) Primitive times people 10 fingers + abacus 

2) C17th + C18th a) iii)  calculatg device = mod. slide rule 

  b) iv) v) 

  c) Newton + Leibnitz vi) 

3) 1820 No. of people vii)  

4) 1830 viii)  ix) 

5) x) Prof. H. Aiken + IBM xi) 

6) 1946 xii)   xiii)  

7) 1947 xiv)  xv) 

8) 1950   xvi) 

9) xvii)    xviii)  

10) xix)   3rd genn computers controld 

11) early 70’s   by integrated circuits 

    xx) 
      

 
 

4.6 RECONSTRUCTING NOTES  
 

Af ter you have taken down notes, it is probably necessary at some point to reconstruct 

them into a report, a paper or even an examination answer. For this, you need to bear in 

mind the difference between note taking and reconstructing notes. 
 
When taking notes, we ignore the convention of writing complete sentences in order to 

record information as quickly and briefly as possible. However, in reconstructing notes we 

have to adopt the style of formal writing. Some of the differences between notes and formal 

writing are listed in the table below: 
 

Notes Formal writing  

—  Omission of linking verbs, —  Full forms of verbs; articles and 

articles and prepositions prepositions included 

—  Use of abbreviation devices —  Words written in full 

—  Different types of layout to show —  Ideas developed in complete, 

development of ideas. For instance connected, and properly punctuated 

tables, diagrams, lists, etc. sentences. 
   
 
Check Your Progress 4 
 

1) Now do the following exercise in reconstructing notes. Read the notes below 

and write them up in a short paragraph of about 100 words. Then compare 

your answer with the specimen paragraph given by us at the end of this unit.   
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Notes 
 

Rabies 
 

1.  Virus transmitted by rabid animals, esp. dogs. 
 

2. Carried to central nervous system + brain 
 

3. Symptoms (appear up to 6 mths. later) 
 

a. thirst, but 
 

b. revuln, against water — diff y in swallowg 
 

c. high fever — paralysis + convulsions — death. 
 

........................................................................................................................ 
 

........................................................................................................................ 
 

........................................................................................................................ 
 

........................................................................................................................ 
 

........................................................................................................................ 
 

........................................................................................................................ 
 

........................................................................................................................ 
 

........................................................................................................................ 
 

........................................................................................................................ 
 

........................................................................................................................ 
 

........................................................................................................................ 
 

........................................................................................................................ 
 

3) The notes below are given in the form of a table. Write them up in the form 

of a passage of about 150 words. The first paragraph of the passage is given 

to you. 
 

These notes show you the contrast between two types of ancient man, i.e. 

Neanderthal and Cro-Magnon man. You are already aware of the technique of 

developing paragraphs by comparison and contrast. It would be a good idea to read 

the unit on writing paragraphs again, before you attempt to write the passage. 
 

Notes 
 

Neanderthal and Cro-Magnon Man 
 

 Neanderthal Cro-Magnon 
   

Body Structure Brain large as man; Like modn man; prominent 

 unusually large skull; chin; high-bridge nose; 

 massive jaw; large front small even teeth; taller 

 teeth; short, ca. 1½ than Neand1 man 
   

Food Habits Eatg flesh of animals Hunter; later cultivd + 

 hunted + killed; wild fruit raised crops and animals 
   

Art Crude drawings of tools + 1st fine artist in the 

 animals world; several cave 

  paintings, stone 

  engravings + carved figs; 

  attemptd to create daily life 

  thro art. 
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Study Skills The two forerunners of modern man, bearing several human features, were the 

 Neanderthal and the Cro-Magnon men. While the former suddenly disappeared, the 

 latter evolved into modern man. 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

3) Use the tree diagram to complete the passage given below: 
 

 

Protozoa (single-cell forms)  
          

          
Vertebrates     Colelenterates 

          

          

  Fish       
        

Amphibians     insects 
      

         

        
Reptiles birds mammals 

         
      man 

 

It is now generally believed that man was not created instantaneously, but evolved 

over millions of years from simpler forms of life. Man belongs to the class of  
                                                                 i)………..................……… Mammals have evolved through various stages from the  

                                                                         ii)……….....………, the simplest iii) …………………………………. Protozoa eventually     

developed in iv) …........……… directions, the very simple v)……………….. from which 

insects have descended; and the vi) ………………, which, after the earlier evolution of fish and 

vii) ……….............…….., finally branched into three great class, viii) …………. 

ix).....…………, and x) …………………………  
 

 

4.7 LET US SUM UP  
 

In this unit, we have discussed some of the special techniques required in taking notes 

while listening to a lecture. These include preparing oneself before a lecture, being 

aware of the different parts of a lecture, and differentiating between the main points and 

digressions, repetitions, etc. Since you also need to reconstruct your notes at some point, 

we have given you some practice in this area as well.  
 

 

4.8 KEY WORDS  
 

Digression : To move away from the main point 

Recapitulate : To repeat the main point 

Reconstruct notes : Rewrite notes is a more expanded, fuller form. 

Semantic markers : Words/phrases that clearly indicate a special meaning. 
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4.9 ANSWERS TO CHECK YOUR PROGRESS  
 

Check Your Progress 1 
 

1)           a   What functions can a computer perform? 
 

b. How does it perform these functions? 
 

c. What are the functions it cannot perform? 
 

d. Will the computer of the future overcome these limitations? 
 

2)        a)   Why do Nurses need communication skills? 
 
                      b) Communication skills in information and advice giving 
 

c) Communications skills in counseling 
 

3)        a)   What causes cholera? 
 
                     b) What are the symptoms of cholera? 
 

c) How can it be prevented? 
 
                     d) If it occurs, how should it be treated? 
 
Check Your Progress 2 
 

1) Extract 1  :   Summing Up 
 

Extract 2  :   Main Point 
 

Extract 3  :   Examples 
 

Extract 4  :   Repetition 
 

Extract 5  :   Beginning 
 

Extract 6  :   Digression 
 
2) I)  a.T 

 

 b,F 

 

 c.F 

 
 d.F 

 

 e.T 

 
 f.E 

 

 g.T 

 
II)  a.   iii  

 
 b.vi 

 

 c.i 

 
 d.vii  

 

 e.iv 

 
 f.ii  

 
 g.v 

Note-Taking-III:   
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Study Skills 3) i)   History and Development of Computers 
 

ii)  Calculating device 
 

iii)  J. Napier 
 

iv) Briggs 
 

v) log. tables 
 

vi) inventd Calculus 
 

vii)  calcul machine-10-tooth gear wheels 
 

viii) Charles Babbage 
 

ix) 'The Analytical Engine' (not completed) 
 

x) 1944 
 

xi) 1st digital computer 
 

xii)  J. Eckert+ J. Mauchly 
 

xiii) Digital computer using vacuum tubes—calld ENIAC. 
 

xiv) John Von Newmann 
 

xv) Devld computer with memory 
 

xvi) 1st genn computer—used vacuum tubes—cd perform 1000’s of calculns p.sec. 
 

xvii) 1960 
 

xviii)2nd genn computer-used transistors 
 

xix)  1965 
 

xx) 4th genn computer—1000 circuits can fit into a single chip. 
 
 Check Your Progress 3 

 1)   Rabies is a disease transmitted to man by the bite of rabid animals, particularly dogs. 

 The virus is carried by the bloodstream to the central nervous system and the brain. 

 The symptoms of rabies can take from a few days to about six months to appear. The 

 symptoms include thirst with revulsion for water when the patient is offered it. In fact, 

 the patient has difficulty in swallowing liquids. A rabies victim dies a very painful 

 death, following high fever, paralysis and convulsions. 

 2)   The two forerunners of modern man, bearing several human features, were the 

 Neanderthal and Cro-Magnon men. While the former suddenly disappeared, the latter 

 evolved into modern man. 

 With his prominent chin, high-bridged nose, and small, even teeth, the Cro-Magnon 

 man could well be mistaken for a present-day human being. The Neanderthal man, 

 however, was different in many ways. Although his brain was as large as modern 

 man’s, it was enclosed in an unusually large skull. The face was distinguished by a 

 massive jaw with large front teeth, probably required for eating raw meat. The 

 Neanderthal man was rather short, about one and a half meters in height. 

 With regard to eating habits, the Neanderthal man remained quite primitive. Since he 

 was a skilled hunter, he ate the flesh of the animals he hunted and killed. The women 

 gathered wild fruit, which also formed part of their diet. The Cro-Magnon man was 

 also a skilful hunter, but at a later stage cultivated his crops and even raised animals. 

 The Cro-Magnon man was the first artiest in the world. There were several cave 

 paintings, stone engravings and carved figures which bear this out. He attempted to 

 create his daily life through his art. The Neanderthal man attempted this too, but his 

52 drawings of the tools he used and the animals he hunted were rather crude. 



3)   i) mammals; Note-Taking-III:  

  Listening to a Lecture  
ii)  protozoa; 

 
iii)  single-celled forms; 

 
iv) two; 

 
v) coelenterates; 

 
vi) vertebrates; 

 
vii)  amphibians; 

 
viii)  reptiles; 

 
ix) birds; 

 
x) mammals. 
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Appendix 
 
4) Recorded Texts 
 
Extract 1 
 
Now let me sum up the various methods of fighting malaria. They involve preventing 

mosquitoes from breeding; preventing mosquitoes from biting people; using protective 

drugs; and using insecticides. The only trouble is that some malaria germs are developing a 

resistance to modern drugs. 
 
Extract 2 
 
Rocks are classified according to their origin. First, there are those which result from the 

cooling of molten material, either deep within the earth as magma or flowing over it as 

lava. These are called igneous rocks. Then, there are those which result from sediments 

becoming solid. These are called sedimentary rocks. The final important group of rocks is 

the metamorphic one — which means rocks that have been changed in some way from 

their original state. 
 
Extract 3 
 
Ecosystems are not static — they change all the time. Plants and animals are able to adapt 

to changes in the physical environment. It is possible to predict changes. For example, 

when fire destroys the vegetation in a region, there will be certain changes. First grass and 

some flowers will grow. Then insects will appear. The wind will blow the seeds of small 

trees. These trees will grow and birds will appear. As the trees grow, the grass will 

disappear and a dense forest will develop. Some trees cannot live in a dense forest and will 

die. Other trees will develop and a community of birds and animals will live in the forest. 
 

(From Reading and Thinking in English: Oxford University Press) 
 
Extract 4 
 
d) Besides, according to the economists, we depend so much on this wasting and buying 

that people will probably be encouraged to consume even more in the years to come if the 

US economy is to prosper. In other words, these marketing experts say that 'the average 

citizen will have to step up his buying by nearly fifty per cent in the next dozen years, or 

the economy will sicken’. This means that the producers of household commodities will 

have to find new means of increasing their sales… 
 
Extract 5 
 
In the last lecture, we discussed the survival of animals in a desert — how some of them are 

biologically equipped to survive, while others survive by ingeniously adapting themselves 

to the environment. In this lecture, we shall talk about how plants survive in the dry climate 

and intense heat of the desert. 
 
Extract 6 
 
So we have discussed cytotoxic drugs, radiation therapy and surgery as some of the 

methods for the treatment of cancer. And talking of cures for cancer….. there used to be a  
Hakim in my village — an old man — who was said to cure it. He would give medicines 

prepared from some herbs he grew in his backyard. Actually, I think he was quite good. 

People would come to him from all over the country. My uncle was also cured by him. 

Unfortunately, he’s dead now…. 
 
2) Text of the Lecture 
 
As you know many of the routine activities in today's society are being performed by 

computers. For example, when we go on a journey our train tickets are reserved by 

computers. The bills we pay — electricity, telephone, for example — are calculated and 

printed by a computer. Diseases are also often diagnosed with the help of a computer. 
 
What is this computer? Why and how was it invented? What are its different functions? 

How does it work? These are some of the questions that come to our mind. We shall deal 

with all of them in the course of our lectures. Today, however, we will concentrate on the 

history and development of the computer. 



Computing, as you already know, has something to do with calculation. The very first 

calculating device used was the ten fingers of a person's hands. That is why, even today, we 

still count in tens and multiples of tens. Then the abacus was invented, a bead frame in 

which the beads are moved from left to right. There is evidence that it was used as far back 

as 3,000 BC. People went on using some form of abacus well into the 16th century. Today, 

in some parts of the world, very small children learn simple calculations on a kind of 

abacus. During the 17th and 18th centuries many people tried to find easy ways of 

calculating. J. Napier, a Scotsman, devised a mechanical way of multiplying and dividing, 

which is how the modern slide rule works. Henry Briggs used Napier’s ideas to produce 

logarithm tables, which all mathematicians use today. Calculus, another branch of 

mathematics, was independently invented by both Isaac Newton, an Englishman, and 

Leibnitz, a German mathematician. The first real calculating machine appeared in 1820 as 

the result of several people’s experiments. This type of machine, which saves a great deal 

of time and reduces the possibility of making mistakes, depends on a series of ten-tooth 

gear wheels. In 1830 Charles Babbage, an Englishman, designed a machine that was 

called’the Analytical Engine’. This machine attempted to cut out the human being 

altogether, except for providing it with the necessary facts about the problem to be solved. 

He never finished this work, but many of his ideas were the basis for building today’s 

computers. 
 
It is in the twentieth century that we enter into the computer age in the real sense. The two 

most important factors for this are: the rapid technological improvements from the early 

1900s, and the availability of vast sums of money for computer development as a result of 

World War II. The first digital computer was completed in 1944. The man responsible for 

this invention was Professor Howard Aiken and some people from IBM. This was the first 

machine that could figure out long lists of mathematical problems, all at a very fast rate. In 

1946 two engineers at the University of Pennsylvania, J. Eckert and J. Mauchly, built the 

first digital computer using parts called vacuum tubes, they named their new invention 

ENIAC, an acronym for Electronic Numerical Integrator and Calculator. Another 

important advancement in computers came in 1947, when John Von Newmann developed 

the idea of keeping instructions for the computer inside the computer’s memory. 
 
The first generation of computers, which used vacuum tubes, came out in 1950. These 

computers could perform thousands of calculations per second. In 1960, the second 

generation of computers was developed and these could perform work ten times faster than 

their predecessors. The reason for this extra speed was the use of transistors instead of 

vacuum tubes. Second generation computers were smaller, faster and more dependable than 

first-generation computers. The third-generation computers appeared in the market in 1965. 

These computers could do a million calculations a second, which is 1000 times as many as 

first generation computers. Unlike second-generation computers, these are controlled by 

tiny integrated circuits and are consequently smaller and more dependable. Fourth-

generation computers have now arrived, and the integrated circuits that are being developed 

have been greatly reduced in size. Now, as many as 1000 tiny circuits fit into a single chip. 

A chip is a square or rectangular piece of silicon, usually from 1/10 to ¼ inch’ upon which 

several layers of an integrated circuit are etched or imprinted, after which the circuit is 

encapsulated in plastic, ceramic and metal. Fourth-generation computers are 50 times faster 

than third-generation computers and can complete approximately 1,00,000 instructions per 

second. 
 
At the rate computer technology is growing, today’s computers will most certainly be 

obsolete by 1990. It has been said that if transport technology had developed as rapidly as 

computer technology, a trip across the Atlantic Ocean today would take a few seconds. 
 
(Adapted from English for Computer Science by Norma D. Mullen and Charles 

Brown, Oxford University Press.) 
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UNIT 5  WRITING SUMMARIES -I   
 
Structure 
 
5.0 Objectives 
 
5.1 Introduction 
 
5.2 The Technique of Summarizing 
 
5.3 Let Us Sum Up 
 
5.4 Key Words  

 

5.0 OBJECTIVES  
 
After completing this unit, you will be able to: 
 
¶ differentate essential from non-essential 

ideas; eliminate repetition or restatement; 
 
¶ apply the knowledge of grammatical features to determine the importance of the 

ideas being presented; 
 
¶ identify the importance of the words which link sentence and ideas; and 

 
¶ develop insight into how ideas in a passage are systematically linked to each 

other.  
 

 

5.1 INTRODUCTION   
 
To be a good writer one needs to write concisely and with precision. Summarizing is a skill 

which will enable you to convey information in a condensed form. The objective in writing a 

summary is to express the basic meanings of a longer piece of information without losing any 

essential matter; and without changing the emphasis of the original information.  
Writing effective, clear summaries can involve using language which is different from 

the language of the original piece, but remember this need not always be so. 
 
You may now ask, “when do I need to write a summary?” 
 
Well, officially you may have to write the summary of a report, or of some research 

findings or even an abstract of an article that you plan to write. You may need to convey 

information to someone from sources such as official documents, laws, plans, and so on. 

You may even wish to report a speech or an argument. Not every word is important; you 

need to report only the main points. 
 
In this unit, we introduce you to the skill of summarizing. This is a skill that requires a lot 

of practice and detailed work. We have slowly but carefully taken you through the details. 

Do not get impatient and skip the points. We assure you that if you practice along with us, 

you will soon be perfect. You will also considerably improve your general writing ability.  
 

 

5.2 THE TECHNIQUE OF SUMMARIZING   
 
We now take you step by step into the process of summary writing. You may find the 

process very detailed, but we request you to go through the steps. This will help you 

immensely in understanding and applying the process of summarising. 
 
Example 1 
 
You are going to read a passage about the river Nile. As you know, the Nile is a great 

river in Africa, which flows through and gives life to the plains of Egypt. Now, go ahead 

and read the passage, trying to grasp its meaning. 



The Nile 
 
The great river Nile flows gently in its course through the hot plains in the first half of the 

year, but later on, when the melting snows and the rains on the mountains far to the south 

swell its tributaries, the Nile overflows. It spreads rich, muddy soil from Ethiopia over its 

valley and forms deep stretches of green, fertile lands along its banks. The settlers found in 

the soft, rich, earth, barley and wheat and other crops could be planted, even without the 

use of the plough, and they began to make many settlements of farmers. They used more 

implements for tilling the soil, and flint for their weapons; and as time passed they learnt 

the use of copper. 
 
Now you will read the passage a second time, sentence by sentence. After reading each 

sentence you will state which words you think you can remove from that sentence without 

destroying its meaning for the passage. Then, we shall discuss the reasons for including/ 

deleting certain words, before proceeding with the next sentence in the same way. We can 

then put together, in paragraph form, the new sentences that we have created by means of 

these deletions or removal of words. These will form a summary of the passage. 
 
Now read the opening sentence. 
 
1)‘The great river Nile flows gently in its course through the hot plains in the first half of 

the year but later on, when the melting snows and the rains on the mountains far to the 

south swell its tributaries, the Nile overflows’. 
 
Notice that the main statement here is ‘The great river Nile flows gently in its course 

through the hot plains in the first half of the year, but later on the Nile overflows.’ The 

clause that has just been removed, namely, ‘when the melting snows and the rains on the 

mountains far to the south swell it tributaries,’ is a less important part of the statement as it 

only gives further information relating to the word ‘later on’. It is for this reason that it can 

be removed without damaging the basic meaning of the sentence. Notice also that this is a 

subordinate clause; hence, it contains less important information than the main clause. 

What we have retained so far is the entire main clause. It is important to learn to separate 

the main clause from its subordinate clauses in order to understand where the basic 

meaning of the sentence lies and where the details. 
 
Notice also that in the main clause stated above, other phrases can be cut down to remove 

some details, which are not absolutely essential. Remember that we are trying to 

summarise, and in summaries there is bound to be loss of detail and richness of 

information. Details are necessary in full-scale writing but not in summaries. Now, try and 

see which phrases you feel can be removed from the main clause above, without 

destroying its basic meaning. In the blank space below, note down the words you wish to 

remove. 
 
Have you chosen to remove any of the following? 
 

i. through the hot plain 
 

ii.  in the first half of the year 
 

iii.  gently in its course 
 
You cannot, obviously, remove 'The great river Nile flows' without damaging the basic 

meaning of the sentence, so that has not been considered a possibility. Let us, then, 

consider which of the three word groups given above you can possibly remove without 

much harm. Notice that 'through the hot plains' is a contrast to 'the melting snows,' but the 

line in which 'the melting snows' occurs has already been found to be a detail and has been 

removed. So the contrast with 'the hot plains' is not required here. Let us read the sentence 

without this phrase. 
 
1a) ‘The great river Nile flows gently in its course in the first half of the year but later 

on the Nile overflows.’ 
 
Do you agree that the sentence still conveys the basic sense of the original? 
 
Can the other two word groups (ii, iii) be removed as well? What will happen if ‘in the first half 

of the year’ is removed from la? If this is done, the contrast with ‘but later on,’ which is 
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Study Skills necessary for the sentence, will be lost and the sentence as a whole will not remain 

 meaningful. Hence (ii) has to be kept even in the summary. Can ‘gently in its course’ be 

 removed? No, because it is being contrasted with ‘but later on the Nile overflows’. The 

 phrase is required in order to show the behavior of the Nile at certain times with its 

 behavior at other times. So you cannot cut down the sentence any further. 

 Now read the next sentence: 

 2) ‘It spreads rich, muddy soil from Ethiopia over its valley and forms deep stretches of 

 green, fertile lands along its banks.’ 

 You notice that what is being described here is the action of the river. Is there anything in 

 this sentence which is not absolutely essential for its meaning? 

 Consider which words you can remove and write those words in the blanks space below. 

 Both single words and phrases can be cut out. 

 ................................................................................................................................................ 

 ................................................................................................................................................ 

 ................................................................................................................................................ 

 Once you have written something down, look at the following words/phrases. Have you 

 removed any of these? i) rich, ii) muddy, iii) from Ethiopia, iv) deep, v) stretches of green, 

 vi) fertile. 

 Let us consider which words can in fact be deleted. In doing this, you have first to be 

 careful to retain the most important words, from the point of view of the meaning. The 

 sentence states that during its course the Nile spreads rich soil over its valley and from 

 fertile lands along its banks. So if you delete the word ‘rich’ ‘fertile’ from your version of 

 the sentence, the meaning will be lost. But you can, in order to shorten the sentence 

 remove ii), iii), iv) and v) above, because words relate to the sub-ideas and not to the main 

 idea of the sentence. 

 You may now ask: how can one distinguish whether the words referred to contain the main 

 idea or merely details of the main idea? Let us try analysing the sentence in order to answer 

 such a question. The sentence states what the function of the Nile is. The richness of the 

 soil and the fact that this makes the ground fertile is seen as the main function of the river. 

 Notice that ‘muddy’ is a detail of ‘rich soil’ and ‘green’ is a detail of ‘fertile’. Again the 

 phrase ‘from Ethiopia,’ while providing useful information about the course of the river is 

 not essential for describing the action of the river. Thus we can summarise (2) to read: 

 2a)  ‘It spreads rich soil over its valley and forms fertile lands along its banks.’ 

 Now read on: 

 3) ‘The settlers found that in the soft rich earth, barley and wheat and other crops could be 

 planted, even without the use of the plough, and they began to make many settlements of 

 farmers.’ 

 What can you remove from this sentence without damaging its basic meaning? In the blank 

 space given below, write down what you think can be deleted. 

 ................................................................................................................................................ 

 ................................................................................................................................................ 

 ................................................................................................................................................ 

 ................................................................................................................................................ 

 ................................................................................................................................................ 

 ................................................................................................................................................ 
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Now that you have chosen to remove some words, check if you have deleted any of the 

following: 
 
i) soft, ii)  rich, iii)  barley and wheat, iv) even without the use of the plough. 

 
If you read the sentence carefully, you will find that not only the richness but also the 

softness of the soil is important here because of the statement that crops can be planted 

without the use of the plough. So (i) and (ii) cannot be removed without damage to the 

sense. Notice that (iv) is required because it indicates an amazing softness of soil, 

something that normal fertile soil doesn't possess. So it needs to be retained. Examples of 

crops as in (iii) on the other hand, can perhaps be removed. It is possible to condense this 

part of the sentence to 'a number of crops could be planted.' 
 
Another kind of change is also possible. You will notice similarity between the words 

‘settlers’ and ‘settlements of farmers.’ Can we cut down some of the common words? In 

order to do this, the sentence will have to be rewritten in a shortened form. The condensed 

sentence can then read: 
 
3a) ‘Many settlements of farmers were formed there because of the soft, rich earth on 

which a number of crops could be planted even without the use of the plough.’ 
 
Now read the last line of this paragraph. 
 
4)‘They used stone implements for tilling the soil, and flint for their weapons; and as time 

passed they learnt the use of copper.’ 
 
Do you thing other words can be removed from here? If so, write down these words in the 

blank space below. 
 
................................................................................................................................................ 
 
................................................................................................................................................ 
 
................................................................................................................................................ 
 
You many find it difficult to select the words, which can be removed from here. 

Remember that it is always possible to do so. In this case, it may, instead, be possible to 

reduce the length of the sentence by writing a generalization to cover the examples listed 

here. The examples given are: 
 

i. making stone implement for tilling the soil 
 

ii.  using flint for their weapons 
 

iii.  using copper 
 
What general statement can you make to cover these examples? Write this down in the 

blank space given below before reading further. 
 
................................................................................................................................................ 
 
................................................................................................................................................ 
 
................................................................................................................................................ 
 
................................................................................................................................................ 
 
Perhaps it is possible to say: 
 
4a) ‘They learnt the art of tool making with the use of stone, flint and copper.’ 
 
‘Tool-making’ can cover the making of tools and weapons. It is possible to remove 'with 

the use of stone, flint and copper’ from (4a) if you consider this a detail. But the kind of 

materials used is historically so important that it seems desirable to retain, that is, not to 

remove the mention of stone, flint and copper. The condensed sentence then reads as 

given above in (4a). 
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The great river Nile flows gently in it’s course in the first half of the year, but later on it 

overflows. It spreads rich soil over its valley and forms fertile lands along its banks. Many 

settlements of farmers were formed there because of the soft, rich earth on which a number 

of crops could be planted even without the use of the plough. They learnt the art of tool 

making with the use of stone, flint and copper. 
 

Compare this with the original passage. As it contains all the essential points of the 

original, it can be considered a summary of it. Notice that the task of separating these 

points was made easy because you had shorten only one sentence at a time. So, now you 

are not required to write new sentences of your own or to combine sentence from the 

passage. All you have to do is to remove those points that are not absolutely essential to 

the meaning. 
 

Please remember that this is only one form of summary. We shall deal with other ways 

of summarizing later. 
 

Now are you ready to work through another passage, using the same method? 
 

Example 2 
 

This passage deals with the importance of plants is human life and the uses to which they 

have been put. It goes on to deal particularly with the jojoba plant. Now read the passage 

through, trying to understand its meaning. 
 

People depend on plants for their existence. Plants in the from of seeds, especially grains, 

are important to people because they are the principal ingredients in most people’s diets. 

Yet most of the plants that are important to people were domesticated or tamed, in 

prehistoric times. For example, before history was written, corn and wheat became part of 

people’s diets. People have grown these grains as crops in small fields for thousands of 

years. 

 

Scientists have only recently begun to keep records of the domestication of plants. Because 

of their records, scientists can predict some of the problems in domestication of a plant. On 

the other hand, there are three reasons why scientists cannot guess all of the problems or all 

of the solutions. The first reason is that they have never been successful in taming a wild 

plant. The second reason is that scientists have kept records for a relatively short time. The 

third reason is that each plant species is unique, different from all other plants. The jojoba 

is an example of a plant that scientists are trying to domesticate. 

 

The Jojoba is a desert plant that grows wild in the dry regions of the southwestern United 

States and northern Mexico. It is a bush that grows to be about two metres high. On its 

many woody branches, the jojoba produces a fruit that is 40 per cent to 60 per cent liquid 

wax. This liquid substance, called jojoba oil, is valuable. It can be used as a base for all 

kinds of cosmetics. It works well as an ingredient in high quality machine oils. By 

domesticating the jojoba, scientists hope to change unproductive desert land into 

productive agricultural land. 

 

(from Zukowski-Faust, J. Johnston, S.S and Atkinson, C.S. between the lines. Copyright 

© 1983 by Holt, Rinehart and Winston, Inc., reprinted by permission of the publisher) 

 
Now you will read the passage, sentence by sentence. 

 
Let us begin by reading the first two sentences: 

 

1) ‘People depend on plant for their existence. 2) Plants in the form of seeds, especially  

grains, are important to people because they are the principal ingredients in most 

people’s diet.’ 
 

There are perhaps some words here which repeat the meaning that is being stated in 

different words. They can, therefore, be removed from a summary. Which are these 

words? In the space below, write down the words you can remove. 
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Did you decide to remove the whole of the first sentence or some parts of both sentences 1 

and 2? One way of shortening the sentence is to say: ‘People depend on plants, in the form 

of seeds, especially grains, for their existence because these are the principal ingredients of 

human diet.’ 

 

By doing this, you have removed the repetition of the words ‘plants…..are important to  
people’ because this idea is already contained in 1). You have also shortened ‘most 

people’s diet, to ‘human diet’. 

 

Notice also that ‘they’ in ‘they are the principal ingredients’ changes to ‘these’ in the 

condensed form. In the original sentence, ‘plants’ is the subject of the sentence to which 

‘they’ refers. In the rewritten sentence, however, there can be some confusion about what 

‘they’ refers to: ‘people’ or ‘plants’. Grammatically speaking, in the rewritten sentence, 

‘they’ should refer to ‘people’ because that is the subject of the sentence, but that will not 

make any sense. ‘These’, on the other hands, indicates very clearly that it is plants which 

are being referred to. 

 
By following this process, you remove obvious repetition. There may be some repetition 

that remains and so, after going through the whole passage, you may decide to cut out 

some more words. But that can be considered later. Let us go through the passage 

sentence by sentence first. Read the next three sentences. 

 
3)Yet most of the plants that are important to people were domesticated, or tamed, in pre-

historic times. (4) For example, before history was written, corn and wheat became part of 

people’s diets. (5) People have grown these grains as crops in small fields for thousands of 

years. 
 
Underline or write down the words in the above sentences which say the same thing. Once 

you have done this, read ahead. 
 
................................................................................................................................................ 
 
................................................................................................................................................ 
 
................................................................................................................................................ 
 
................................................................................................................................................ 
 
................................................................................................................................................ 
 
Did you underline any of the following? 
 

i) in pre-historic times 

before history was 

written for thousands 

of years 
 

ii)domesticated 

tamed 
 

became part of the people's diets 
 

have grown these grains as crops in small fields 
 
Notice that the three phrases in, i) very clearly mean the same thing. In, ii), the words/ 

phrases are not identical in meaning, in themselves. But, in the context of these sentences, 

they are very similar. So perhaps it is possible to keep only one phrase/word from i) and  
ii)each in order to summarise the sentence. Rewrite 3), (4) and 5) as one 

sentence, cutting out repetition of words and ideas, in the space given below. 
 
................................................................................................................................................ 
 
................................................................................................................................................ 
 
................................................................................................................................................ 
 
One way of doing this will be: 
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Study Skills ‘Yet most of the plants that are important to people, for example corn and wheat, were 

 domesticated in the pre-historic times.’ 

 In producing this summary, most of (3) has been kept, but (except for the example) (4) and 

 (5) have been cut out. This is because the same ideas were being repeated. By now you 

 must have begun to understand when ideas are being repeated. 

 Now read the next two sentences 

 6) ‘Scientists have only recently begun to keep records of the domestication of plants. 

 7) because of their records, scientists can predict some of the problems in domesticating a 

 plant’.  

 Underline the word/phrases that are identical or similar in the two sentences. Now try and 

 combine the two sentences removing the words that are similar. Try to do this in the space 

 given below and also check whether it is necessary to substitute some other words for 

 those that are removed.  

 ................................................................................................................................................ 

 ................................................................................................................................................ 

 ................................................................................................................................................ 

 ................................................................................................................................................ 

 It is clear that three things are being repeated in the two sentences: ‘scientists’, ‘records’ 

 and ‘the domestication of plants’. If possible, these words should occur only once in a 

 summary. Bearing this in mind, perhaps the sentence can be rewritten as: 

 ‘Scientists have only recently begun to keep records of the domestication of plants 

 because through these they can predict some of the problems in domesticating a plant.’ 

 Notice the substitutions used:  

 ‘Scientists’ → they  

 ‘Records of the domestication of plants’ → these 

 The substitution for similar words here consists of pronouns. 

 Another way to reduce the sentences is to cut out any references to the scientists who are 

 performing this task. This makes the statement sound more technical and it also becomes 

 much briefer:  

 ‘Record of the domestication of plants are very recent and they can help predict some 

 problem areas in this field.’  

 Notice that the following phrases have been reduced. 

 ‘have only recently begun’ 6) are very recent 

 ‘the domestication of plants’ 6)  

 ‘problems in domesticating a plant’ 7) 

 Now look at the next few sentences. 

 8) ‘On the other hand, there are three reasons why scientists cannot guess all of the 

 problems or all of the solutions. 9) The first reason is that they have never been successful 

 in taming a wild plant. 10) The second reason is that scientists have kept records for a 

 relatively short time. 11) The third reason is that each plant species is unique, different from 

 all other plants. 12) The jojoba is an example of a plant that scientists are trying to 

 domesticate.’  
 

In what way can you reduce these sentences? Think about this a little before looking 

ahead. You may jot down your points here. 
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................................................................................................................................................ 
 
................................................................................................................................................ 
 
................................................................................................................................................ 
 
Notice that ‘on the other hand’ seems to be required because it signals that a different view 

point is being presented from the one in the earlier sentence. But, nevertheless, this phrase 

can be shortened. Can you suggest a word you can use instead? 
 
................................................................................................................................................ 
 
................................................................................................................................................ 
 
What words are being repeated in the four sentence above (8-12)? Underline these. 
 
Can some of them be removed? Can some of them be shortened? Write your shortened 

version here on the basis of the changes you have made above. 
 
................................................................................................................................................ 
 
................................................................................................................................................ 
 
Here is one way in which the sentence can be reduced. 
 
Check this with your version and compare the differences. 
 
‘However, all the problems/solutions cannot be guessed in advance because: i) scientists 

have never been successful in taming a wild plant; ii) records have been kept for a 

relatively short time; iii) each plant is unique. The jojoba is an example of a plant that 

scientists are trying to domesticate.’ 
 
Note down the points of difference between your version and this one. 
 
................................................................................................................................................ 
 
................................................................................................................................................ 
 
Notice that sentence 12 has been retained without any change, partly because it is required 

to be a bridge to paragraph 3. 
 
Now read sentence 13-19, which make up the whole of paragraph 3. 
 
13)‘The jojoba is a desert plant that grows wild in the dry regions of the southwestern 

United States and northern Mexico. 14) It is a bush that grows to be about two metres high.  
15) On its many woody branches, the jojoba produces a fruit that is 40 per cent to 60 

percent liquid wax. 16) This liquid substance, called jojoba oil, is valuable. 17) It can be 

used as a base for all kinds of cosmetics. 18) It works well as an ingredient in high 

quality machine oils. 19) By domesticating the jojoba, scientists hope to change 

unproductive desert land into productive agriculture land.’ 
 
First think of ways in which you can shorten this. You can jot down your points here or 

underline in the paragraph above the words that you wish to remove. 
 
................................................................................................................................................ 
 
................................................................................................................................................ 
 
................................................................................................................................................ 
 
................................................................................................................................................ 
 
In what way can you combine some of the sentences? Let us start with 13) and 14). It is 

possible to reduce these to the following: 
 
‘The jojoba, a wild desert bush that grows in some part of the United States and Mexico, is 

about 2 metres high’. 
 
What has been done here? 
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................................................................................................................................................ 
 
................................................................................................................................................ 

 
First, is ‘a desert plant that grows wild’ and ‘it is a bush’ have been combined to from ‘a 

wild desert bush.’ 
 
Second, notice that we don’t state that the jojoba is a wild desert bush: we don’t make this 

a separate sentence. After ‘jojoba’ we place ‘a wild desert bush’ separated by a comma, in 

order to show that the jojoba and the wild desert bush refer to exactly the same thing. In 

your grammar books you will find an explanation for this relationship, namely that ‘a wild 

desert bush’ is a noun phrase in apposition to ‘jojoba’. This is a useful way of condensing 

sentences provided that two nouns (or noun phrases) in apposition refer to identical things. 
 
 
Third, it is not necessary to include in your summary all the details that occur in a passage. 

Passage can, of course be summarised for various reasons, and certain details will be 

required for certain particular purposes. However, in a general summary, such as we are 

attempting here, detail of any kind which is not needed for the development of the main 

point can be deleted. So we have left out mention of ’ ‘the dry regions’ in which the jojoba 

grows, and the fact that it grows in the 'south western' parts of the United States and 

northern Maxico’. 
 
Fourth, notice that because sentence 13 and 14 have been combined, the main clause is 

‘the jojoba is about two metres high.’ The other parts of the sentence are a noun phrase in 

apposition: ‘a wild desert bush,’ and a subordinate relative clause: ‘that grows in some 

parts of the United States and Mexico’. 
 
Let us now look at sentences15-19. These contain a number of sentences dealing with the 

jojoba fruit, its contents and use. How can we combine these into fewer and shorter 

sentences? 
 
First, underline the parts of the sentence that deal with detail which is not necessary for the 

main argument. 
 
................................................................................................................................................ 

 
................................................................................................................................................ 

 
Have you done that? Next, find the common elements in these sentences. State these here. 
 
................................................................................................................................................ 

 
................................................................................................................................................ 

 
Once you have done that, you can proceed to combine sentence 15-18 (not 19) into two 

sentences. Write your combined sentence here. 
 
................................................................................................................................................ 

 
................................................................................................................................................ 

 
................................................................................................................................................ 

 
Read your sentences again to check whether you can improve them. Now compare your 

work with this version. This is, of course, only one way of condensing the sentences. 

There can be other ways as well: 
 
‘Its fruit is 40-60 per cent liquid wax, called jojoba oil, which is valuable. This can be 

used to making cosmetics and high quality machine oils.’ 
 
Let us analyse what steps have been taken to produce these sentences. 
 
Details removed: 15) ‘Many woody branches’ 
 
Common elements: 15) ‘liquid wax’; 16) ‘liquid substance;’ 16) ‘jojoba oil’; 17) ‘it’. 18) ‘it’., 
 
17) ‘can be used as a base for’ 18) ‘works well as an ingredient in’ 



Sentence 15 can be condensed to 'its fruit is 40-60 per cent liquid wax; but we don't end the 

sentence there. We draw on sentence 16, removing the common element ‘liquid substance’ 

and add ‘called jojoba oil, which is valuable.’ Notice that we have added the word, ‘which’ 

which refers to liquid wax. The main clause of this new sentence now reads: ‘Its fruit is  
40-60 per cent liquid wax.’ This sentence has two subordinate clauses: i) ‘called jojoba 

oil’ (short for ‘which is called jojoba oil’) and ii) ‘which is valuable.’ Remember that the 

process of condensing sentences requires you very often to combine a sentence in such a 

way that one or more sentences become subordinate clauses in the new sentences. You 

must therefore learn how to distinguish main and subordinate clauses and also how to 

produce these different clauses. 
 
Sentence 17 and 18 have been combined to give rise to ‘this can be used in making 

cosmetic and high quality machine oils’; ‘the common element in it can be used as a base 

for’ and ‘it works well as an ingredient in’, is expressed in ‘this can be used in.’ This 

applies to both cosmetics 17) and high-quality machine oils 18), so the two when joined by 

an ‘and’ can complete the sentence. 
 
What about sentence 19? It appears difficult to condense this without removing the 

essential point of the passage, so we can just leave it as it is. 
 
Not read the summary as a whole. Compare it with the original text. 
 
Summary A 
 

1) 1) People depend on plants, especially in the form of seeds, or grains, for their 

existence because these are the principal ingredients of human diet. 2) Yet most of 

the plants that are important to people, for example, corn and wheat, were 

domesticated in pre-historic times. 3) Records of the domestication of a plant are 

very recent and can help prediet some problem areas in domesticating a plant. 4) 

However, all the problems cannot be guessed in advance because i) scientists have 

never been successful in taming a wild plant; ii) records have been kept for a 

relatively short time; and iii) each plant is unique. 
 

2) 1)The jojoba is an example of a plant that scientists are trying to domesticate. 2) 

The jojoba, a wild desert bush, that grows in some parts of the United States and 

Mexico, is about 2 metres high. 3) Its fruit is 40-60 per cent liquid wax, called 

jojoba oil.which is valuable. 4) This can be used in making cosmetics and high 

quality machine oils. 5) By domesticating the jojoba, scientists hope to change 

unproductive desert land into productive agricultural land. 
 
Now let us go over the summary and consider whether each sentence is appropriately 

linked to the following one. 
 
Look at sentence 2 of paragraph 1 of the summary. Sentence 1 and 2 are connected by 

means of the word ‘Yet’. This word suggests that something different from what is stated 

in sentence 1 is going to be presented. Is that however the case? The fact that most plants 

were domesticated in pre-historic times (sentence 2) is not being stated in contrast to 

people’s dependence on plants (sentence 1). So the use of ‘Yet’ is coufusing. What is 

being contrasted occurs in sentences 2 and 3, namely the fact that though plants were 

domesticated in pre-historic times (sentence 2), yet records of this domestication are very 

recent (sentence 3). So the placement of ‘Yet’ in the sentence has to be changed. Sentence 

2 and 3 can now read: 
 
‘Most of the plants that are important to people, for example corn and wheat, were 

domesticated in pre-historic times, yet records of the domestication of plants are very 

recent. These can help predict some problem areas in domesticating a plant.’ 
 
Notice that sentence 2 is made to carry the contrast mentioned above with the help of part 

of sentence 3 . Sentence 2 now becomes quite long. So the second part of sentence 3 

(summary A) is made to stand alone here. 
 
Are the other sentences linked? Looked at the connection between sentences 3 and 4. The 

linking word ‘however’ appears at the beginning of sentence 4. This indicates that only 

some problem areas in domesticating plants can be predicted, but all problems cannot be 
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predicted/guessed in advance. This would seem to be a suitable way of joining the two 

sentence. Sentence 4 goes on to outline the reasons why all problems cannot be predicted 

in advance. 
 
A new paragraph is started at this point. Why is it necessary to separate the passage into 

two paragraph? The reason is that the passage moves from a general statement of the issues 

to a short case study of the jojoba plant. A new paragraph is needed to indicate this change 

in focus. What is the point of connection between the paragraphs? Paragraph 2, sentence I 

states that the jojoba in an example of plants that scientists are trying to domesticate. This 

word ‘example’ very clearly indicates the nature of the relationship between the jojoba tree 

and the rest of the discussion that has taken place earlier. 
 
How is sentence 2 of paragraph 2 linked to sentence I? It repeats the word ‘jojoba’, 

indicating that it is going to make a statement about it. So sentence 2 merely says 

something more about sentence I. Sentence 3 is connected to sentence 2 by means of the 

pronoun ‘its’. This also makes a statement about the jojoba tree. Sentence 4 is connected 

to sentence 3 by means of the word ‘this’ (sentence 4) which refers to jojoba oil (sentence 

3). Sentence 5 makes a general statement about the effect that domesticating the jojoba 

plant will have on the productivity of the land. It is therefore connected to the whole of 

paragraph 2 and is also linked to the word ‘solutions’ in paragraph I. 
 
Write the new version of the summary here. (Only sentence 2 and 3 have changed.) 
 
Summary B 
 
................................................................................................................................................ 

 
................................................................................................................................................ 

 
................................................................................................................................................ 

 
................................................................................................................................................ 

 
If you wish to shorten this summary further, what can you do? 
 
Different statements are being made in paragraph I, namely the ones given below. Which of 

these are absolutely essential for you to retain? Your decision about items to retain in 

paragraph 1, should be guided by the nature of the information presented in paragraph 2, so 

choose only those ideas which are required to connect paragraph 1 and 2. 
 

i. People’s dependence on plants 
 

ii.  The domestication of plants in pre-historic times 
 

iii.  The fact that records of the domestication of plants are very recent 
 

iv. Problem areas in domesticating plants can be predicted by studying records of the 

domestication of plants 
 
Perhaps the points that can be removed are iii) and iv) because these are not absolutely 

essential. If the first two are removed, the whole meaning of the passage will collapse. 
 
The next thing to learn in order to condense a passage further is to be able to combine 

two or even three sentences into one by creating complex sentences with subordinate 

clauses. Notice the way in which statement i-iv have been written. What changes have 

been made to the form in which these statements occurred in summary A/B? 
 
‘People depend on plants’……. People’s dependence on plants ‘plants….. were  
domesticated in pre-historic times’………the domestication of plants in pre-historic times. 
 
The verb ‘depend’ ha been turned into ‘dependence’ — a noun; the verb ‘were 

domesticated’ has been turned into a noun ‘domestication’; as nouns, these become the 

subjects of new sentences and can take other verbs in order to combine two sentences/ 

clauses. Consider the following sentence as an opening sentence for Summary C: 
 
‘People’s dependence on plants has led to the domestication of plants and grains that are 

important for man’s existence.’ 



This is based mainly on sentence 1 of Summary A/B, though ‘the domestication of plants 

in pre-historic times’ is drawn from sentence 2. The change of verb into noun has enabled 

us to produce this shorter version because the main parts of the two sentences, namely, 

‘people depended on plants’ and plants… were domesticated’ can be combined into one 

sentence: ‘people’s dependence on plants has led to the domestication of….’, 
 
‘the principal ingredients of human diet;- important for man's existence,’ 
 
The second sentence of summary C can read: 
 
‘Most of the important plants, e.g… corn and wheat, were domesticated in pre-historic 

times, but scientists are still trying to domesticate more plants.’ 
 
What changes have been introduced here to make it different in summary B? Note 

them down here before reading further. 
 
................................................................................................................................................ 
 
................................................................................................................................................ 
 
................................................................................................................................................ 
 
The changes that have been made are: 
 

i. for example 
 

ii.  ‘but scientists are still trying to domesticate more plants’. 
 

(Summary C) is taken chiefly from paragraph 2, sentence 1 (Summary B), namely, 

‘the jojoba is an example of a plant that scientists are trying to domesticate.’ It is 

stated here as a generalisation, which links it to the description of the jojoba plant in 

the second paragraph. 
 
The first sentence of paragraph 2 can read: 
 
‘The jojoba is one example of successful domestication in recent years.’ 
 
The first part of this is drawn mainly from sentence I quoted above. However, this also 

contains the words ‘successful’ domestication and ‘in recent years’. Both these words/ 

phrases are drawn from the sense of the passage from those parts of summary A/B that 

have been left out of summary C so far. 
 
The second sentence of paragraph 2 can read: 
 
It is a wild desert bush found in some parts of the United States and Mexico which has fruit 

consisting largely of liquid wax. 
 
What are the changes that are made here? Note them down in the space given below. 
 
................................................................................................................................................ 
 
................................................................................................................................................ 
 
................................................................................................................................................ 
 
Notice that the following changes are made: 
 
The jojoba—It 
 
That grows in—(which is) found in 
 
Its fruit is 40-60 per cent liquid wax—consisting largely of liquid wax. Two sentences 

from the previous summaries are combined to form a complex sentence with two 

subordinate clauses. The subordinate clauses are: 
 

i. found in some parts of the U.S and Mexico 
 

ii.  which has fruit consisting largely of liquid wax 
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The third sentence of paragraph 2 reads: 
 
‘This can be used to produce oil for making cosmetics and high quality machine oils.’ 

In what ways has summary A/B been changed to produce this sentence? Write down 

your answer here. 

 
................................................................................................................................................ 

 
................................................................................................................................................ 

 
................................................................................................................................................ 

 
In order to get this sentence, two sentences from summary A/B have been combined, 

namely, ‘called jojoba oil’ and ‘this can be used in making cosmetics and high-quality 

machine oil’. 
 
The last sentence of paragraph 2 can read: 
 
‘In addition, by domesticating the jojoba, unproductive desert land can be changed into 

productive agriculture land.’ 
 
What changes have been made in Summary A/B in order to produce this sentence? 
 
Note down your ideas here. 
 
................................................................................................................................................ 

 
................................................................................................................................................ 

 
................................................................................................................................................ 

 
The main change consists in bringing in the words ‘in addition’. This indicates that there 

are two advantages in cultivating the jojoba: i) it can be used to produce oil and  
4) unproductive desert land can be changed into productive agriculture 

land. Now read summary C as a whole. 
 
Summary C 
 
People’s dependence on plants has led to the domestication of plants and grains that are 

important for man's existence. Most of the important plants. e.g., corn and wheat, were 

domesticated in pre-historic times, but scientists are still trying to domesticate more plants. 
 
The jojoba is one example of successful domestication in recent years. It is a wild desert 

bush found in some parts of the U.S. and Mexico, which has fruit consisting largely of 

liquid wax. This can be used to produce oil for making cosmetics and high-quality 

machine oils. In addition, by domesticating the jojoba, unproductive desert land can be 

changed into productive agriculture land. 
 
Do you think this is better than summary B? Why/why not? 
 
................................................................................................................................................ 

 
................................................................................................................................................ 

 
................................................................................................................................................ 

 
................................................................................................................................................  

 
 

5.3 LET US SUM UP  
 

In this unit we have given you practice in: 
 

separating the essential ideas in a passage from the non-essential ones, and 

observing how the ideas in a passage are linked to each other. 



 

5.4 KEY WORDS  
 

Condense : Express in fewer words 

Noun : A word or phrase used as the name of a person, place, or thing. 

Subject : About which something is said; subject and predicate are the 

  essential parts of a sentence. 

Subordinate clause : A clause serving as a noun, an adjective or an adverb in a 

  sentence and is dependent on the main clause, i.e. it can not 

  stand alone. 

Summary : A brief account 

Systematically : Methodically 

Verb : A word or phrase that predicates e.g., the italicized words in 

  ‘the river flows gently’, ‘plants are important to people.’ 
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UNIT 6  WRITING SUMMARIES -II   
 
Structure 
 
6.0 Objective 
 
6.1 Introduction 
 
6.2 Techniques of Summarizing  

Example 1: ‘Integrated Pest Management’  
Example 2: ‘Earthworms Back in the Garden’  
Example 3: ‘Antiseptics’ 

 
6.3 Let Us Sum Up 
 
6.4 Key Words 
 
6.5 Answers to Check Your Progress  

 

6.0 OBJECTIVE   
 
After going through the unit you should be able to write summaries of the passages you read.  
 

 

6.1 INTRODUCTION   
 
In the previous unit, we took you through the process of summary writing. In this unit, we give 

you more examples. As we said earlier, it is only through practice that you will become good at 

summarizing texts. This will also help you to write concisely and with precision. 
 
When you write a summary you need to remember the following points: 
 

i. Go through each part of the source information and note what is essential and 

important. 
 

ii.  Decide whether some details are important as well. 
 

iii.  Exclude unimportant details, examples, anecdotes, etc. 
 

iv. Write out the basic ideas as simply as possible, often rewording them. 
 
Of course, some knowledge of grammar always comes in handy while writing summaries. 
 
Again, we request you to go through the unit with us and attempt the intext questions. You 

will then gain confidence and write efficiently and well.  
 

 

6.2 TECHNIQUES OF SUMMARIZING   
 
Example 1 
 
You are now going to read a passage on how agriculturists are learning to deal with 

creatures that harm crops. In recent years, there has been a growing use of insecticides, 

but the passage given below suggests that other ways of dealing with the harmful 

creatures or pests are being developed and successfully used. Now read the passage. 
 
Integrated Pest Management 
 

1) 1) Agricultural pests are winning the battle against the poisonous chemicals in 

pesticides. 2) As each new chemical pesticide is used, the insects or rodents 

gradually become used to it. 3) The pests change themselves so that they are not 

killed by the poison. 4) Therefore, farmers, scientists, and food planners are trying 

a new method to control the pests that attack their crops. 5) This method is called 

Integrated Pest Management, or IPM. 



2) Integrated pest management is a plan that combines several different methods to 

destroy insects and rodents. These methods are specifically developed for 

individual areas and crops. The control methods include using the pests’ natural 

enemies, controlling the pests’ breeding environment and developing stronger 

strains of seeds. Chemical poisons are used only when necessary. The IPM 

method accepts the fact that it is useless to try to destroy pests completely with 

chemical poisons. Its aim is to control pest populations so that crops can still grow 

well. 
 

3) Cotton farmers in Texas have been using the IPM method. The farmers find this 

the best combination of control methods for their needs. In this way, they can 

produce crops without using too many chemical poisons. In 1977, three-quarters 

of the cotton fields in Texas received no insecticides at all. That year’s cotton 

crop was better than average. The IPM methods showed the farmers a better way 

to control the pests in their field. 
 

4) The United Nations Environment Programme (UNEP) has been studying 

agricultural pests and chemicals. It has found that 223 pests are resistant to, or not 

affected by, insecticides. Rodents, including rats, are also gaining resistance to 

poisons. In 1965, another UN organisation, the UN food and Agricultural 

Organisation, listed 182 resistant types of pests. Three years later, there were 228 

species on the resistant list. The 1977 survey raised the number to 364 species. 

Because so many pests are becoming resistant to chemical poisons, it is necessary 

to find another method of control. By using integrated pest management, farmers 

can still control and limit pests without depending on chemical poisons. 
 
(From Zukowski-Faust, J. Johnston, S.S and Atkinson, C.S. Between the lines. Copyright 

© 1983 by Holt, Rinehart and Winston, Inc., reprinted by permission of the publisher.) 
 
We are now going to make a summary of the passage by looking for the important ideas 

in each paragraph. 
 
Let us start with paragraph1. Re-read this paragraph and find a line that states the main 

idea. Write down that here. It is now always possible to find the main idea started in a 

single sentence. Quite often it is to be put together from many different sentences. It the 

main idea can be found in one sentence that sentence is called a topic sentence. 
 
Did you choose sentence I as your topic sentence? 
 
‘Agricultural pests are winning the battle against the poisonous chemicals in pesticides.’ 
 
Notice that sentence 2 merely explains the meaning of sentence 1. Sentence 3 gives a 

little more information about the same point. What about sentences 4 and 5? You can see 

that these provide a new point. The two sentences (4 and 5) can be combined to from: 
 
‘Therefore, farmers, scientists and food planners are trying a new method to control the 

pests that attack their crops, namely, Integrated Pest Management(IPM)’. 
 
What is the relationship between sentence 1 on the one hand and sentences 4 and 5 on the 

other hand? Write down the answer here, before looking ahead. 
 
................................................................................................................................................ 
 
................................................................................................................................................ 
 
................................................................................................................................................ 
 
Sentence 1 states the general position — the problem. Sentences 4 and 5 state the solution 

to this problem. Note that both the problem and the solution make up the topic of 

paragraph 1. 
 
What is the relationship of the rest of the passage to these sentences? Rapidly look over 

paragraphs 2, 3 and 4 and state the nature of that relationship here, before looking ahead. 
 
................................................................................................................................................ 
 
................................................................................................................................................ 
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 ................................................................................................................................................ 

 The rest of the passage contain a development of the idea of Integrated Pest Management, 

 what it consists of, how it is used, and its effect. It is therefore an expansion of the 

 solution to the problem stated in paragraph 1. 

 Now, look for the important sentences in paragraph 2, which develop the main idea. Write 

 them down here: 

 ................................................................................................................................................ 

 ................................................................................................................................................ 

 ................................................................................................................................................ 

 ................................................................................................................................................ 

 Have you written down the following? 

 ‘Integrated pest management is a plan that combines different methods to destroy insects 

 and rodents. Its aim is to control pest populations so that crops can still grow well. 

 As you can see, the first and the last sentence of this paragraph have been chosen 

 because these contain the main idea. However, is this information enough to summarise 

 paragraph 2? If you look again, you will find that crucial items are left out. What are these? 

 Go back to paragraph 2 and find out what other information is required to be stated. Write 

 this down here: 

 ................................................................................................................................................ 

 ................................................................................................................................................ 

 ................................................................................................................................................ 

 ................................................................................................................................................ 

 The points to be taken from paragraph 2 read thus: 

 ‘Integrated pest management is a plan that combines several different methods to destroy 

 insects and rodents. Its aim is to control populations so that crops can still grow well, by 

 using the pests’ natural enemies, controlling the pests’ breeding environment, and 

 developing stronger strains of seeds.’ 

 Can you cut out any words from here? Write down what you can remove. 

 ................................................................................................................................................ 

 ................................................................................................................................................ 

 ................................................................................................................................................ 

 Now check your answer. 

 i) ‘Integrated Pest Management’ has already been mentioned in full in the sentence we 

  have retained from paragraph 1. The same sentence also states its short form ‘IPM’ in 

  brackets. Therefore, the next sentence to be included in the summary, i.e. from 

  paragraph 2, needs not repeat ‘Integrated Pest Management’ in full. It can be referred 

  to simply as ‘IPM.’ 

 ii)   The word ‘pests’ is repeated in the summary of paragraph 2. We can therefore, change 

  the second use of 'the pests’ to 'their’. The sentence will then read: 

  ‘….by using the pests’ natural enemies, controlling their breeding environment.’ 

 Now condense paragraph 3. Bear in mind what has already been stated in the summaries 

 of paragraphs 1 and 2 above and choose only what seems to be necessary from paragraph 

72 3 to continue the argument. 



................................................................................................................................................ 
 
................................................................................................................................................ 
 
................................................................................................................................................ 
 
Here is a hint: a specific example has been given here. This is too long to repeat. Choose 

only one aspect of the example to make the required point that the IPM method is 

successful. Write this down here if you have not already written it in the blank given 

above. 
 
................................................................................................................................................ 
 
................................................................................................................................................ 
 
................................................................................................................................................ 
 
Perhaps the most important part of the example is ‘The cotton crop in Texas in 1977 was better 

than average’. To produce this, part of two sentences have been combined. The other details 

are not required in a summery. Now read paragraph 4 and note down the main idea expressed 

in it. Don’t get confused by the details. Try and find the general point. 
 
State it here. 
 
................................................................................................................................................ 
 
................................................................................................................................................ 
 
................................................................................................................................................ 
 
Have you noted down the following? 
 
................................................................................................................................................ 
 
................................................................................................................................................ 
 
................................................................................................................................................ 
 
‘The U.N. Environmental programme has found that a large number of pests are resistant 

to insecticides, so it is necessary to find another method of control.’ 
 
Notice that this sentence is drawn from different part of the paragraph. ‘The United 

Nations’ has been shortened to ‘the U.N.’ but not ‘UNEP’. The U.N. is a well- known 

organisation, so it will be recognised by its initials, but the Environment Programme run 

by the U.N. is not generally so well-known so it needs to be stated in full. A number of 

figures are given about the pests that have been studied and found to be resistant to 

insecticides. These cannot be stated separately but have to be contained within a 

generalisation: ‘a large number of pests.’ The second last sentence of the paragraph is the 

main sentence for the summary. 
 
Now rewrite all the main points that we have put down separately together here: 
 
................................................................................................................................................ 
 
................................................................................................................................................ 
 
................................................................................................................................................ 
 
Let us now read this summary: 
 
‘Agricultural pests are winning the battle against the poisonous chemicals in pesticides. 

Therefore farmers, scientists and food planners are trying a new method to control the pests 

that attack their crops, namely Integrated Pest Management (IPM). IPM is a plan that 

combines several different methods to destroy insects and rodents. Its aim is to control pest 

populations so that crops can still grow well, by using the pests’ natural enemies, 

controlling the pests’ breeding environment, and developing stronger strains of seeds. The 

cotton crop in Texas in 1977 was better than average. The UN Environment Programme 

has found that a large number of pests are resistant to insecticides, so it is necessary to find 

another method of control’. 
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 Now consider this summary carefully. 

 
i) Are all the points connected to form a single argument? And are all the sentences 

properly linked? If you read carefully you will find that one of the sentences has no 

proper linking word to connect it to the previous sentence. Which sentence is this? 

What linking words would you add? Answer these questions here before reading 

ahead. 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

ii)  The last sentence but one is not related to the previous one. It is necessary to add 

something else such as. ‘As the result of using the IPM, the cotton crop in Texas in 

1977 was better than average’. By the addition of these words a reason is given for 

the improvement of the cotton crop. 
 

iii)  Is there any repetition of ideas anywhere in this summary? Write down the sentences 

that repeat the same information. 
 

................................................................................................................................................ 
 

................................................................................................................................................ 
 

................................................................................................................................................ 
 

................................................................................................................................................ 
 

You will have noticed that the first and last lines of this summary repeat the same idea. 

Perhaps, it is possible to cut out one of the lines. The last sentence can very easily be 

removed because mention of the UN Environmental programme is not particularly 

important to the development of the argument. So the summary is complete without the last 

sentence. 
 

Let us go over the steps we look to write this summary. 
 

i. We isolated the main point or points in each paragraph. 
 

ii.  We then checked if any crucial ideas were left out. 
 

iii.  We then put them all together as a summary. 
 

iv. And finally, we looked at the summary to check for repetition of ideas and removed 

the repetition. The summary also checked connection between one of the examples and 

the main idea. In that case, linking or connecting words were required in order to make 

it read properly. You must follow these steps when writing a summary. 
 

Example 2 
 

You will now read another passage. This deals with a related topic. It talks about natural 

ways of fertilizing the soil. The method suggested here is the use of earthworms to freshen 

the soil. Now read the passage. 
 

Earthworms back in the garden 
 

1) ‘Earthworms are the answer for every garden problem, according to Harold John 

Weigel. They can increase crop production, turn and freshen soil, and produce faster 

growth. Simply take care of the earthworms, and the earthworms will take care of the 

garden. Weigel is extremely enthusiastic about earthworms. They are tremendous 

creatures, “the intestines of the Earth,” Weigel says quoting Charles Darwin. 
 

2) Weigel is so excited about the benefits of worms that he is writing a book about them. 

He gardens using thousands of earthworms. He has persuaded his wife to put worms in 

her houseplant pots. He even suggests eating worms, which he claims, are 70 per cent 

protein. He has dreams of armies of earthworms helping to replace topsoil in the  
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country. It is a fact, he says, that topsoil is disappearing every year through erosion.  
Wind and water carry away the soil and nature needs centuries to replace it. 

 
3) Within one year, one thousand earthworms and their descendants can change 

approximately one ton of organic matter into one of the higher yield growing 

materials known, according to Weigel. Worms eat organic material and produce 

what is known as worm castings. If 1,000 pounds of earthworms are working on 

one acre of land every twenty-four hours, they will produce 1,000 pounds of 

castings that function as high-grade topsoil. They produce the same amount of 

topsoil in one day that nature could produce in 700 years through decomposition 

and erosive forces such as wind and rain. 
 

4) Planting garden in worm castings offers plants more than just all the necessary 

nutrients. For example, casting are very porous, and water flows easily through 

them. They are very absorbant, being able to hold water easily. In addition, 

worms tend to be happiest around the roots of plants. Water can then flow 

directly to roots through the worm channels. The worms’ create a planting area 

of even consistency. Thus, the earthworms act as natural ploughs. 
 

5) Worms offer all these benefits, yet they make few demands. They need only 

moisture, darkness and food from the soil. Wiegel gets his information on the 

benefits of earthworms from books and from the Worm Growers Association. 

That little-known group, which is active in many states, suggests that commercial 

farmers reintroduce earthworms in place where they have been killed through the 

use of synthetic fertilizers and other gardening chemicals.’ 
 
(From Zukowski-Faust, J. Johnson, S.S and Atkinson, C.S. Between the Lines, Copyright 

© 1983 by Holt, Rinehart and Winston Inc., reprinted by permission of the publisher.) 
 
Check Your Progress 
 

1) Re-read paragraph 1 and draw out the main idea from it. You can begin in this way: 

‘Earthworms are the answer for every garden problem.’ 

.................................................... 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

(Check your answer with that given by us at the end of the unit.) 
 

You were expected to complete the above sentence by giving examples of the 

problems earthworm could solve, as listed in paragraph 1. Notice that the punctuation 

mark, the colon, in the answer given by us, indicates that an explanation or details 

regarding something is going to follow. 
 

2) Now re-read paragraph 2 and draw out the main ideas from it. You will find 

that it contains two ideas. Write them down here. 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

Check your answer with those given at the end of the unit. The paragraph is about the 

benefits of worms and the two benefits mentioned here should be selected for the 

summary. If you have chosen anything else, it can only be about Weigel’s excitement 

and the usefulness of worms in general. In a summary we are not much concerned 

with the view of an individual such as Weigel, but with the facts themselves. The 

usefulness of worms in general has already been stated in the summary of paragraph 1, 

so that doesn’t need to be repeated. 
 

3) Now re-read paragraph 3 and note down the main points. Choose the most 

general statements. Specific examples should not be included unless they also 

express a general idea, which has not already been stated. Write down your 

points here. 
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 ........................................................................................................................................ 

 ........................................................................................................................................ 

 Check your answers with those given at the end of the unit. You will find that a large 

 part of the first and the last sentence expresses the main points. All reference to 

 Weigel are left out. The point regarding worm castings, though important, is not really 

 necessary for the main argument that runs through whole piece. 

 4)   Now read paragraph 4, just select those points that have not already been stated. 

 Choose adjectives and adjective-like phrases that are used to describe the effect of 

 worms on the soil. You can begin your sentence this way; 

 ‘Worms make the soil ..................................................................................................... 

 ........................................................................................................................................ 

 ........................................................................................................................................ 

 It is not necessary to give all the details even though they are interesting. In a 

 summary you need basically to provide the main points that are important for the 

 whole passage. Check your answer with that given by us. 

 5)   Now read paragraph 5 and note down the main points. You will notice that this 

 paragraph deals with the needs of worms. So, first state the three things that they 

 need, starting with the words: 

 Worms need only ........................................................................................................... 

 ........................................................................................................................................ 

 ........................................................................................................................................ 

 ........................................................................................................................................ 

 Another point is also being made here regarding a Worm Growers’ Association, which 

 is of interest in the context. This could also be mentioned. Put in a line about this. 

 ........................................................................................................................................ 

 ........................................................................................................................................ 

 ........................................................................................................................................ 

 Check your answer with that given by us. 

 6)   Now, if the whole summary we have produced is written up, it will read like this: 

 ‘Earthworms are the answer for every garden problem: they can increase crop 

 production, turn and freshen soil and produce faster growth. Earthworms, it is 

 claimed, are 70 per cent protein, so they can be eaten. They can replace the topsoil, 

 which is disappearing every year through erosion. Within one year, 1,000 earthworms 

 and their descendants can change approximately 1 ton of organic matter into one of 

 the highest-yield growing materials known. They produce the same amount of topsoil 

 in one day that nature could produce in 700 years through decomposition and erosive 

 forces. Worms make the soil porous, absorbent and of even consistency. Worms 

 need only moisture, darkness and food from the soil. A Worm Growers’ Association is 

 active in many states.’ 

 Let us look at the summary carefully now to see if any changes are required in order to 

 make it read like a connected passage. The first part all the way upto’ … and of even 

 consistency’, is concerned with the function of earthworms. Each point that is being 

 made up to this stage consists of a statement of yet another function of the 

 earthworms, so no further connecting words are required. 
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However, the sentence ‘Worms need only moisture, darkness and food from the soil’ 

is concerned not with the function of worms but with the need of these worms. It is, 

therefore necessary to indicate that a different kind of idea is being brought in. A line 

from the original passage can be used in order to connect this sentence with the rest 

of the summary. Let us see how the summary will read with this addition: 
 
‘…Worms make the soil porous, absorbent and of even consistency. Worms offer all 

these benefits. Yet they make few demands: they need only moisture, darkness and 

food from the soil.’ 
 

Notice that the addition of this line indicates very clearly what the passage has dealt 

with so far and the contrast with what it is going to deal with next. What about the 

last sentence of the summary? Does it fit in at that point in the summary? There is 

actually no connection between that and the sentence before it. It may perhaps be 

preferable to drop the mention of the Worm Growers' Association. 
 

Notice that the summary does not necessarily follow the sequence of ideas of the 

original passage. It may follow the same sequence or it may not. What is important is 

that a clear line of argument develops, even though in the original passage the line of 

argument is not so clear. 
 

Now rewrite the final version of the summary here. Check your answer with that 

given at the end of the unit. 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

7)  You are now going to read a passage about antiseptics and write a summary after  

you have identified the ideas in each paragraph. 
 

Antiseptic is a substance that destroys or stops the growth of germs on living tissue. 

Antiseptics are applied to the skin and mucous membranes to help prevent infection. 

They must be strong enough to fight germs but mild enough not to irritate sensitive 

tissues. Antiseptics differ from disinfectants and antibiotics. Disinfectants are 

chemicals that destroy germs on nonliving objects, and antibiotics are drugs that treat 

infection after it occurs. 
 

There are hundred of antiseptic products, including creams, mouthwashes, ointments, 

powders, shampoos, soaps, solution, and sprays. Each of these products contains a 

germ- fighting chemical that carries out the antiseptic action. Such chemicals include 

alcohols, dyes, iodophors, mercurials, phenols, and salicylamides. The kind and 

amount of chemical used depends chiefly on the type of the product. 
 

Physicians use special antiseptic cleansers to scrub their hands and to wash the 

patient’s skin before surgery. Doctors also spray serious wounds with antiseptics in 

order to keep them from becoming infected. 
 

Antiseptics are used in first-aid treatment of cuts and other wounds, but many 

physicians and health experts question their use in such cases. These authorities 

believe washing such injuries with soap and warm water is as effective as any 
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Study Skills antiseptic that can be bought without a prescription. An injury that requires more care 

 should be treated by a physician. 

 The germ-fighting chemicals can cause serious side effects. These effects include a 

 rash or some other allergic reaction, or damage to the skin. But medical experts 

 generally believe antiseptics are safe if used as directed by the manufacturer. 

 People used vinegar and wine as antiseptics 2,500 years ago, long before the 

 discovery that germs cause disease. Several hundred years ago, surgeons noticed 

 that untreated battle wounds and surgical incisions quickly began to smell like rotting 

 flesh. To prevent this odour, they treated the tissues with a variety of substances that 

 became known as antiseptics. The word comes from two Greek words anti, meaning 

 against, and sepsis, meaning decay. Through the centuries, a number of fluids and 

 potions, were used as antiseptics. In addition to vinegar and wine, they included 

 brandy, mercury, pitch, tar and turpentine. Some of these substances were powerful 

 germ killers but also harmed the tissue. As a result, many patients were saved from 

 infection but died from the treatment. 

 In the mid-1800’s Ignaz P. Semmelweis, a Hungarian physician, showed that a mild 

 solution of lime chloride helped prevent infection during childbirth. Doctors who 

 rinsed their hands in the solution kept infection from spreading among the patients. 

 Also in the mid 1860’s, Sir Joseph Lister, an English surgeon, pioneered the use of 

 antiseptics in surgery. He used carbolic acid in sprays and on dressings to help 

 prevent infection in surgical incisions. The discoveries of Semmelweis and Lister led 

 to the development of many mild but effective antiseptics. Some of these products, 

 such as alcohol and iodine, are still widely used today. 

  (From The World Book Encyclopedia, Vol, World Book Inc,1983) 

 Did you identify the following ideas from the different paragraphs? 

 Paragraph 1 What is an antiseptic? How is it different from disinfectants and 

  antibiotics 

 Paragraph 2 The different kinds of antiseptics 

 Paragraph 3 & 4 The uses of antiseptics. 

 Paragraph 5 & 6 Antiseptics in earlier ages. 

 Paragraph 7 The contribution of Semmelweis and Lister. 
 

Now write a summary in which you can use these ideas. Remember you can combine 

ideas and sentence and need not write in the order the paragraphs are arranged. 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

........................................................................................................................................ 
 

Check your answer with that given by us. 
 

Every summary has a purpose. We have been attempting general summaries where 

passages have been condensed according to the purpose of the passage itself. But they 
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can be summarised from the reader’s point of view as well. In that case, details not so 

important to the passage might be selected because the reader happens to be particularly 

interested in them.  
 

 

6.3 LET US SUM UP  
 

In this unit we have shown you we can write summaries of the passage we read by: 
 

looking for the important ideas in each passage and the relationship between them; 

and 
 

adopting a proper arrangement for the main points in the summary and linking the 

various sentences in it with the use of connectives.  

 

6.4 KEY WORDS  
 
Colon :  A mark (:) used in writing to introduce an example, etc. 

Earthworm  : A common kind of long thin worm which lives in the soil. 

Sequence : The order in which things follow one another.  
 

 

6.5 ANSWERS TO CHECK YOUR PROGRESS  
 

1) Earthworms are the answer for every garden problem: they can increase 

crop production, turn and freshen oil and produce faster growth. 
 

2) Earthworms it is claimed are 70 per cent protein, so they can be eaten. 

They can replace topsoil which is disappearing every year through erosion. 
 

3) Within one year, 1000 earthworms and their descendants can change 

approximately 1 ton of organic matter into one of the highest-yield growing 

materials known. They produce the same amount of topsoil in one day that nature 

could produce in 700 years through decomposition and erosive forces. 
 

4) Worms make the soil porous, absorbent and of even consistency. 
 

5) Worms need only moisture, darkness and food from the soil. A Worm 

Grower’s Association is active in many states. 
 

6) Earthworms are the answer for every garden problem: they can increase crop 

production, turn and freshen soil and produce faster growth. Earthworms, it is 

claimed, are 70 per cent protein, so they can be eaten. They can replace topsoil 

which is disappearing every year through erosion. Within one year, 1000 

earthworms and their descendants can change approximately 1 ton of organic 

matter into one of the highest-yield growing materials known. They produce the 

same amount of topsoil in one day that nature could produce in 700 years through 

decomposition and erosive forces. Worms make the soil porous, absorbent and of 

even consistency. Worms offer all these benefits, yet they make few demands: 

they need only moisture, darkness and food from the soil. 
 

7) (This summary is suggestive, your summary may be differently arranged 

but do include the main ideas identified in the different paragraphs.) 
 
The word antiseptic comes from two Greek words and means “against decay.” Antiseptic 

stops the growth of germs on living tissue. It is different from disinfectants and antibiotics. 

Doctors use different kinds of antiseptics for different purposes. In earlier times vinegar 

and wine were widely used as antiseptic. In the 1800’s Semmelweis and Sir Joseph Lister 

used antiseptics with great effectiveness. 

 
Writing Summaries-II  

 

79 
 
 



 
 
 
 

 
UNIT 7 
DICTIONARIES  
 
(Please refer Unit 4 of Block 4 of CCS 2) 

 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 


